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8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» W20y T2Ee»AC - 136Y2T3Y 1263T37-U3Y 01 u=AYC 01
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20la6e=T 01-01-01
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RSYASE»TST3Y -~ T3A31ISY T363 13037

U=AlCYY»A¢ a=la=Yaiu

asNa=vail
AYLI3U»YA
o 134¢ i Atail Aer S Al AST S ATal AET
PaLiT3IC 3Y13YalUA -afU=3nA T30 3na0Y»AC T30 3na0Y»ic T3 3na0Y»icC
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\- O*é:\i \- o \- [U] I(Y) f% I(Y) :; e -
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\- 8 8 fo fo
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1 2 3 4 5 6 7 8 9 10

AU _2@°UA 12Eé&°3s 4,189,373.9| 792,461.6 792,461.6| 166,226.2 166,226.2| 2,159,437.3| 788,367.1| 336,107.5| 91,289.9| 93,918.4
31 Arasl
AUAZ20LT I12Eé°d 4,139,373.9| 792,461.6 792,461.6| 166,226.2 166,226.2| 2,159,437.3| 788,367.1| 336,107.5| 91,289.9| 93,918.4
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 2,609,669.2( 543,942.0 543,942.0 147,083.4 147,083.4| 1,322,350.8| 276,620.7| 185,715.5| 75,519.7| 81,544.4
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 2,609,669.2( 543,942.0 543,942.0 147,083.4 147,083.4| 1,322,350.8| 276,620.7| 185,715.5| 75,519.7| 81,544.4
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 2,237,013.8 504,071.4 504,071.4| 118,674.7 118,674.7| 1,097,545.8| 252,947.1| 158,925.7| 59,783.0| 65,723.6
- 43- 37w RalY»A, TASUST3Y EA3EaieailY»n " N3wal 5,902.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- 2303036C313Y, 137 313Y " T 3I3Y 3¢ 366,753.2( 39,870.6 39,870.6| 28,408.7 28,408.7 224,805.0( 23,673.6( 26,789.8| 15,736.7| 15,820.8
136=3[a0Y»AC &=3i- 3w hRal
jZéZUéﬁAUéﬁUUOB/E °1 2a62UgU°sE 1,004,622.7| 221,671.1 221,671.1| 19,142.8 19,142.8 655,124.3( 405,304.8( 145,392.0| 9,714.2( 6,374.0
O°Peg” @oadd
31 Atasl
D?ﬁf’lﬁY'?_l-3_I_3Y 13Eé»i 348,970.2( 55,692.3 55,692.3 9,895.1 9,895.1 239,723.7| 67,753.7( 88,417.0| 8,250.3| 4,736.4
31 Atadu
- YY»fi-» W CT 13é3(a0AladYY»hi 218,673.4| 37,1514 37,151.4 762.0 762.0 158,091.8| 45,457.5| 51,167.8( 6,217.8| 2,944.3
- TaU&sY3t 1=3é3acAlasy Yo 5,389.0 2,248.0 2,248.0 40.0 40.0 2,919.0 1,338.5 1,155.2 35.1 36.0
- T=2AC 1363(a0AlaiYY»hi 87,328.1| 11,972.9 11,972.9 1,744.1 1,744.1 57,747.7| 10,486.4| 32,144.0( 1,527.4| 1,436.1
- 243Nai=3-A3T3Y I3Eé»i 18,610.0 4,320.0 4,320.0 640.0 640.0 9,870.0 2,680.0 3,950.0 320.0 320.0




GeT

20la6e=T 01-01-01

1 2 3 4 5 6 7 8 9 10
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 18,969.7 0.0 0.0 6,709.0 6,709.0 11,095.2 7,791.3 0.0 150.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 297,875.2| 87,500.0 87,500.0 5,569.0 5,569.0 172,169.9| 153,608.7| 11,550.0 225.7 253.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 167,269.0( 54,035.6 54,035.6 1,208.6 1,208.6 94,571.9| 63,603.4] 29,110.0 80.0 255.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 1,378.1 600.0 600.0 0.0 0.0 500.0 100.0 400.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 7,451.7 1,500.0 1,500.0 196.8 196.8 2,448.2 194.4 1,280.0 30.0 95.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 7,243.9 3,185.6 3,185.6 425.0 425.0 3,133.1 1,124.0 1,555.0 20.0 100.0
- T3ES T3S 13Y 13¢3aiAaYY»h 394.8 0.0 0.0 394.8 394.8 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 200.0 0.0 0.0 0.0 0.0 200.0 200.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 149,803.6( 48,750.0 48,750.0 150.0 150.0 88,160.0( 61,985.0| 25,875.0 30.0 30.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 796.9 0.0 0.0 42.0 42.0 130.6 0.0 0.0 0.0 30.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 277.4 0.0 0.0 0.0 0.0 264.8 0.0 0.0 0.0 20.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 277.4 0.0 0.0 0.0 0.0 264.8 0.0 0.0 0.0 20.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 111,068.7 2,000.0 2,000.0 402.4 402.4 105,959.9| 102,942.9 1,1741 240.0 119.6
YiaoA»h)
31 Afadu
- D»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 111,068.7 2,000.0 2,000.0 402.4 402.4 105,959.9| 102,942.9 1,1741 240.0 119.6
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 79,162.2| 22,443.2 22,443.2 2,067.7 2,067.7 42,4341 17,396.1| 15,140.9 918.2 990.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 14,316.4 4,279.5 4,279.5 343.0 343.0 6,788.5 2,889.7 2,610.0 157.0 88.3
- TASYEAANW3ICY YiasA»i 56,187.3| 12,395.8 12,395.8 1,520.0 1,520.0 33,1389 12,296.2| 12,530.9 741.2 881.2
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 4,825.1 1,934.5 1,934.5 204.7 204.7 2,506.7 2,210.2 0.0 20.0 20.5
- D3l YA3 W 313(CY 3 YiaoA»i 3,833.4 3,833.4 3,833.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 82,189.1 0.0 0.0 0.0 0.0 82,189.1 82,189.1 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 82,189.1 0.0 0.0 0.0 0.0 82,189.1| 82,189.1 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 82,189.1 0.0 0.0 0.0 0.0 82,189.1| 82,189.1 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 315,378.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 3,186.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 3,186.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 312,191.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
-AYA309_I-’1ﬁ3U3BYéﬁNY»ﬁ AT3I3Y 136313003y 800.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY
- AYASGOCT 8401 »YOC3Y»fi NBUSYUY»ACY 268,450.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




9eT

20lase=T 01-01-01

1 2 3 6 7 8 9 10
~ZE AYASOCT TnSUSRYARNY > 42,9415 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 91,000.0| 21,000.0 21,000.0 0.0 0.0 70,000.0 0.0 0.0] 6,000.0| 6,000.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 91,0000| 21,0000 21,000.0 0.0 00| 70,0000 0.0 00| 6,000.0] 6,000.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 91,000.0| 21,000.0 21,000.0 0.0 0.0 70,000.0 0.0 0.0] 6,000.0| 6,000.0
2UE ~‘| ZEéoé 36,514.7 5,848.5 5,848.5 0.0 0.0 29,773.1 24,252.5 5,000.0 56.0 0.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 2,9555| 8485 8485 0.0 00 19639 14525 00[ 560 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 33,559.2 5,000.0 5,000.0 0.0 0.0 27,809.2 22,800.0 5,000.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 50,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 50,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs°8 ©1 PEUADAUROUUCS 50,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TBYUmAC -~ RCYADAIGIYY»AC TSACT 3t T »13Yana - ail 50,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» W20y T2Ee»AC - 136Y2T3Y 1263T37-U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

20la6e=T 01-01-01

Pa1T=1¢ =YT=VaslA

S ATa00 AG W 1A= -fofiG

TanT=1GA CRESYAIAIRY, &» W 3T3Y 126213103V (BYA=&»3T3Y 7 v Si= =gy
T=6=73A0=Y USAlCYY»A¢ a=Na=Yaiu

TaRT=1Ch CRE=VAARY, B» 1 =T3Y
T26313A/03Y (3YASa»T3T3Y
TIASIUBCY T3é631300U3Y U3AUCYY»AC
a=3la=val (YSESASAY»AC
SRETIT3U»AC UB64T)

22 Afal A6
T=212/a0Y»AC

2 Al AST
T=02/a0V»AC

\m

«© -
lg Q 6_
o JURR .
> S > > > > > > 0 > = <5 U=
gl | b L] g | o | <L [ g2 | 22 | = @553 25| &3
= F M 20 o T 3 S S < s552| T8 -3
0 e 2 g - P - o - Q- \— R \m- iC 0 of & 0=
2 A 0 A 8 'a 'S A (SN RN NN ?ja ) ,CSJQM o 0 a0
vg [ 39 3% =g ol og | L€ | &£F 3 necn | S0 2w
8k | =Ff Fl 85 | Br | 8% | sE | 8% | & [zplul Se | Tu
) 85 ) ) ) ) ) fn) 8= (Q_ ) (Q_ = (Q_
M
8
11 12 13 14 15 16 17 18 19 20 21 22
AU _2@°UA 12Eé&°3s 99,386.2| 134,489.7| 113,521.2| 111,077.1| 118,582.7| 100,858.2| 73,080.1| 98,759.2| 305,123.4 18,117.6( 15,271.5( 14,657.5
31 Arasl
AUAZ20LT I12Eé°d 99,386.2| 134,489.7| 113,521.2| 111,077.1| 118,582.7| 100,858.2| 73,080.1| 98,759.2| 305,123.4 18,117.6( 15,271.5( 14,657.5
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 83,796.0( 117,670.7| 96,701.9( 85,3121 99,139.1| 84,824.2( 60,229.2( 75,277.3| 230,732.5 13,128.4( 13,608.0( 13,510.9
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 83,796.0( 117,670.7| 96,701.9( 85,3121 99,139.1| 84,824.2( 60,229.2( 75,277.3| 230,732.5 13,128.4( 13,608.0( 13,510.9
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 66,656.3| 93,745.9| 76,628.7| 68,099.4| 78,700.0| 67,795.4| 48,413.0| 60,127.7| 224,830.3 13,128.4( 13,608.0( 13,510.9
- 43- 37w RalY»A, TASUST3Y EA3EaieailY»n " N3wal 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5,902.2 0.0 0.0 0.0
Tx3AY»h
- 2303036C313Y, 137 313Y " T 3I3Y 3¢ 17,139.7] 23,924.8( 20,073.2| 17,212.7| 20,439.1 17,028.8| 11,816.2| 15,149.6 0.0 0.0 0.0 0.0
363140V»AC &3-S 1al
jZéZUéﬁAUéC)UUOB/E °1 2a62UgU°sE 9,496.6( 10,777.6| 10,786.6( 19,670.7 13,363.6 9,998.4| 6,819.9| 7,4259| 70,4378 1,802.9| 1,663.5 1,146.6
O°Peg” @oadd
31 Atasl
D?ﬁ?ﬁY?_|-3_|_3Y 13Eé»h 7,879.5 8,208.0 8,187.3( 17,826.6| 11,314.2 6,853.5| 4,897.4| 5,399.8| 17,096.9 838.6 875.1 265.0
31 Atadu
- YY»fi-» W CT 13é3(a0AladYY»hi 6,218.2 6,445.1 5,673.01 14,932.9 8,609.8 4,393.8( 2,946.1( 3,085.5 4,610.7 225.1 333.3 0.0
- TaU&sY3t 1=3é3acAlasy Yo 48.3 63.1 51.2 7.3 53.4 61.2 30.9 38.8 43.5 0.0 4.5 0.0
- T=2AC 1363(a0AlaiYY»hi 1,293.0 1,208.5 1,870.6 1,211.0 1,989.1 1,829.5| 1,525.6] 1,226.5 8,682.7 453.5 337.3 65.0
- 243Nai=3-A3T3Y I3Eé»i 320.0 320.0 360.0 320.0 320.0 320.0 320.0 320.0 3,010.0 160.0 200.0 200.0




8ET

20la6e=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21 22
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 171.3 232.5 1,355.4 341.9 249.0 74.8 729.0 750.0 0.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 408.4 1,165.2 986.9 405.8 658.2 1,660.8 578.6 668.6| 30,549.5 117.6 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 80.0 168.4 179.0 270.0 163.7 327.2 199.0 136.2| 13,093.7 230.1 150.0 160.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 30.0 80.0 98.0 150.0 81.2 198.2 123.0 88.4 54.2 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 20.0 32.8 51.0 45.0 52.5 79.0 36.0 17.8 240.1 57.8 0.0 10.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 30.0 30.0 30.0 30.0 30.0 30.0 30.0 30.01 12,7421 150.0 150.0 150.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 25.6 0.0 45.0 0.0 20.0 10.0 0.0 57.3 22.3 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 17.0 150.0 0.0 19.6 10.3 43.0 4.9 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 17.0 150.0 0.0 19.6 10.3 43.0 4.9 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 80.8 232.3 127.3 160.0 186.2 215.0 179.4 302.3 1,906.4 141.2 119.5 129.1
YiaoA»h)
31 Afadu
- D»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 80.8 232.3 127.3 160.0 186.2 215.0 179.4 302.3 1,906.4 141.2 119.5 129.1
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 1,047.9 986.7 1,156.1 1,008.3 1,021.7 931.6 922.5 914.1 7,791.3 475.4 518.9 592.5
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 121.7 168.6 153.3 149.3 165.3 91.1 100.2 94.0 656.3 66.0 43.9 110.7
- TASYEAANW3ICY YiasA»i 900.4 780.9 972.8 831.2 800.0 811.2 795.2 797.7 7,060.0 402.4 475.0 475.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 25.8 37.2 30.0 27.8 56.4 29.3 27.1 22.4 75.0 7.0 0.0 6.8
- D3l YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,186.3 3,186.3 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,186.3 3,186.3 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,186.3 3,186.3 0.0 0.0
I3%=T»A&40AIATY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
-AYA309_I-’1ﬁ3U3BYéﬁNY»ﬁ AT3I3Y 136313003y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY
- AYASGOCT 8401 »YOC3Y»fi NBUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




6ET

20lase=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21 22
~ZE AYASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0/ 6,000.0( 16,000.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 60000 6,0000| 6,0000| 60000 60000 60000 60000| 16,0000 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0/ 6,000.0( 16,000.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 93.6 41.4 32.7 94.3 80.0 35.6 31.0 56.0 766.8 0.0 0.0 0.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 93.6 414 327 94.3 80.0 264]  310]  56.0 16.8 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 9.2 0.0 0.0 750.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs°8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TBYUmAC -~ RCYADAIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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a8 o A ©
23 24 25 26 27 28 29 30 31 32 33 34
AU _2@°UA 12Eé&°d 20,665.2| 63,426.2( 12,151.6| 13,381.4 13,640.0( 13,915.5| 12,243.3| 16,598.4 16,534.8| 22,844.4 12,898.6| 13,779.0
=1 Afadu
AUA20LT 12E€°8 20,665.2| 63,426.2( 12,151.6| 13,381.4 13,640.0( 13,915.5| 12,243.3| 16,598.4 16,534.8| 22,844.4 12,898.6| 13,779.0
=1 Afadu
2pE2T2Ugk 12802Tda0AUacU 17,476.5( 22,017.7| 10,886.1| 12,141.3 12,100.4( 12,131.9| 10,522.1| 14,572.3 13,403.1| 20,657.4 10,780.0| 12,559.8
=1 Afagu
_ABUAT 131140 SRES W3 T310»1 ~ NS I»E3 1x3Y»fi 17,476.5( 22,017.7| 10,886.1| 12,141.3 12,100.4( 12,131.9| 10,522.1| 14,572.3 13,403.1| 20,657.4 10,780.0| 12,559.8
=1 Afaiu
- 2RE3TA0Y»AC SRES WS T3A0»1 NS T»E3 Tx3AY»f 17,476.5( 22,017.7| 10,886.1| 12,141.3 12,100.4( 12,131.9| 10,522.1| 14,572.3 13,403.1| 14,755.2 10,780.0| 12,559.8
- a3 - "3URaUY»A, 1ASUST3Y EASE&aeaUY»h NS ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 5,902.2 0.0 0.0
Tx3AY»h
- 3030306C313Y, 137 33Y ™ 7313y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13¢3{a0Y»AC &=h-"3hal
jZéZUéﬁAUéﬁUUoéﬁE °i 25620gU°sE 3,188.7( 41,408.5| 1,265.5 1,231.3 1,539.6 1,783.6] 1,721.2 2,022.7 3,131.7| 2,1824 2,118.6 1,219.2
0°eég” °d6aid
=1 Afadu
P3RAIYSI3T3Y ISEé»ii 2,361.6| 1,373.7 648.1 666.7 789.3 1,131.3] 1,083.8 870.7 2,383.9( 1,104.1 1,262.0 502.9
=1 ATadu
- WY»A-»WCT 13é3aiAlasYY» 1,836.9 0.0 155.9 269.6 199.8 0.0 0.0 200.9 874.1 0.0 515.1 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 10.0 0.0 0.0 7.0 0.0 0.0 0.0 0.0 4.4 0.0 9.2 5.5
- 134AC 1363aAlasy Y»h 314.7| 1,123.7 372.2 270.1 389.5 971.3 923.8 429.8 555.4 864.1 577.7 337.4
- 283NaT=3-/=13Y I13Eé»h 200.0 250.0 120.0 120.0 200.0 160.0 160.0 240.0 200.0 240.0 160.0 160.0
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20lase=T 01-01-01

23 24 25 26 27 28 29 30 31 32 33 34
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 750.0 0.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 29,250.0 79.6 50.2 36.5 0.0 50.0 259.8 0.0 0.0 200.1 70.7
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 150.0| 10,047.1 150.0 150.0 109.2 150.0 156.3 160.0 145.0 195.0 160.0 150.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 0.0 0.0 0.0 0.0 14.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 10.0 0.0 0.0 0.0 0.0 6.3 10.0 10.0 10.0 10.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 150.0| 10,037.1 150.0 150.0 95.0 150.0 150.0 150.0 135.0 150.0 150.0 150.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 156.8 100.0 70.0 75.0 185.7 86.0 52.0 187.4 90.0 120.0 84.2 129.2
YiaoA»h)
31 Afadu
- D»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 156.8 100.0 70.0 75.0 185.7 86.0 52.0 187.4 90.0 120.0 84.2 129.2
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 520.3 637.7 317.8 289.4 418.9 416.3 379.1 544.8 512.8 763.3 412.3 366.4
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 57.1 24.3 134 31 8.1 27.6 26.5 9.3 48.3 169.9 20.9 0.0
- TASYEAANW3ICY YiasA»i 463.2 613.4 304.4 281.7 410.8 383.9 350.7 526.0 464.5 593.4 391.4 366.4
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 4.6 0.0 4.8 1.9 9.5 0.0 0.0 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
AYA3OCT 1r~‘,l3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
-AYA309_I-’1ﬁ3U3BY'éﬁNY»ﬁ AT3I3Y 136313003y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY
- AYASGOCT 8401 »YOC3Y»fi NBUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-01-01

23 24 25 26 27 28 29 30 31 32 33 34
~ZE AYASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 8.8 0.0 0.0 0.0 34 0.0 4.6 0.0 0.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 0.0 0.0 0.0 8.8 0.0 0.0 0.0 34 0.0 46 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs°8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TBYUmAC -~ RCYADAIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




et

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T=3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 01 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 01-01-01

S[ATA0U ASH TR fofiC

T4 T=21Ch CRE=VasAR=Y,
T3T3Y T36313AU3Y
NSYASS»T3T3Y

T3ASIUSCY T3e=T=3a0=Y

U=AUCYY»AC A=NA=Va00
(Y2ESA2AYV»AC
SRESTST3UU»AC USE4T)

TaiT=21Ch CRE=VAARY, B» =3T3y
T26313A/03Y (3YASa»r 313y
TIAZIU3CY T363T3AU3Y U3AUCYY»AC
a=la=val (YSE=A3ha0A6YY»AC
SRESTST3U»AC USE4r)

T130é
N

STSY Qus TG
CUY=Yania-4iU

p3=er3YC
D3YASA» T AARRY
eaou i>)YéC3Y>{ﬁC
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o =k ATao0 A =i Afao0 Aew =i ATaol Aew =h ATao0 A
PALT=1C 3Vi3YasUA T3 380V »fiC T3T3a0Y»C T3T3/a0Y»C T=131a0Y»AC
5 5 5
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o3 o 29 = O RS iz g o3 = == = o5 5 8
2 TRt 0hng L 2 00 0hni
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o S=Zl g 00 Lo | 2w g o g R
; = . - 0 = ; . D . - 0,
8y | g=Sey | & [sphy| v By | % 3t T | gity
4 0y a= 0 £l 4 U a=" 01
35 36 37 38 39 40 41 42 43 44
AU _2g°UA 12Eé°s 13,674.7 11,323.7| 396,356.6] 59,850.5| 281,438.6] 55,067.5] 50,000.0 50,000.0| 268,450.4 268,450.4
3 A4l
AUAZOET 12E6°5 13,674.7 11,323.7| 396,356.6] 59,850.5| 281,438.6| 55,067.5 0.0 0.0| 268,450.4 268,450.4
3 A4l
2pE=712Ugk 12802T6a0AU0a0U 11,426.8 9,809.8| 358,349.0| 53,881.8| 251,504.4| 52,962.8 0.0 0.0 0.0 0.0
3 A4l
_A=0aT 1x3A140 SRESTST300»0 " NS 163 1x3AY»A 11,426.8 9,809.8| 358,349.0| 53,881.8| 251,504.4| 52,962.8 0.0 0.0 0.0 0.0
3 A4l
- ZRE3TA0V»AC SRESTST3M0»A ~ NS 163 1x3AY»0 11,426.8 9,809.8| 285,073.1| 42,5265 201,568.5| 40,978.1 0.0 0.0 0.0 0.0
- a3h- 3TRAUY»A, 130313 En3Eaeaily»n -~ N1 asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
- g303036C3T3Y, 137 3T3Y ~ A 313Y 3 0.0 00| 732759 11,355.3| 49,935.9] 11,9847 0.0 0.0 0.0 0.0
1=3631a0Y»iC &= - =1 al
12620a0A02000°8L ©1 245620g0°8k 2,247.9 763.9| 37,8813 5968.7| 29,807.9| 2,104.7 0.0 0.0 0.0 0.0
Ocep” ©5200
3 A4l
P14y =T=T3Y 1=Eé»h 649.0 291.1| 26,369.0 3514.7| 221484 705.9 0.0 0.0 0.0 0.0
31 Afasl
SR> W CT 1263a0Aa0Y Y»h 0.0 0.0 17,9591 1,991.3] 15,967.8 0.0 0.0 0.0 0.0 0.0
- Talaoy3E 1=63lashlany Vi 0.0 2.9 136.8 0.0 136.8 0.0 0.0 0.0 0.0 0.0
- T3AC 1=63lasAlany Y»n 489.0 2082 71276 1,363.4| 5,098.3 665.9 0.0 0.0 0.0 0.0
- 2330413 -A31T3Y I13Ee»h 160.0 80.0 730.0 160.0 530.0 40.0 0.0 0.0 0.0 0.0
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20lase=T 01-01-01

35 36 37 38 39 40 41 42 43 44
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 415.5 0.0 4155 0.0 0.0 0.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 415.0 20.0 2,086.8 588.0 868.8 630.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 616.0 215.0 4,337.7 794.5 3,094.2 449.0 0.0 0.0 0.0 0.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 278.1 50.0 228.1 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 40.0 0.0 3,232.5 621.0 2,247.5 364.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 76.0 40.0 260.1 100.5 124.6 35.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 500.0 175.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 567.0 23.0 494.0 50.0 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 12.6 0.0 12.6 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 12.6 0.0 12.6 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 120.3 60.0 779.4 275.0 454.9 49.5 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- D»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 120.3 60.0 779.4 275.0 454.9 49.5 0.0 0.0 0.0 0.0
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 447.6 177.8 4,295.8 796.5 3,229.0 270.3 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 27.2 0.0 2,205.8 403.9 1,639.2 162.7 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 380.0 177.8 1,990.6 375.6 1,520.0 95.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 40.4 0.0 99.4 17.0 69.8 12.6 0.0 0.0 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
. 6%@290369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 268,450.4 268,450.4
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
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a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 1,358.5 1,358.5 8,339.3 7,824.7 514.6 0.0 0.0
31 Afadu
- PSS 13Y 1363(aiAla0YY»hi 0.0 0.0 0.0 0.0 99.6 0.0 99.6 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 13.5 135 1,880.7 1,685.7 195.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 45.0 45.0 6,184.0 6,139.0 45.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0| 1,300.0 1,300.0 175.0 0.0 175.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 47.8 47.8 442.9 362.9 80.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 0.0 0.0 47.8 47.8 442.9 362.9 80.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 268.5 268.5 2,149.1 1,767.7 381.4 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 0.0 0.0 78.5 78.5 909.6 639.6 270.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 190.0 190.0 1,133.9 1,045.0 88.9 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 103.1 83.1 20.0 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 25 0.0 25 0.0 0.0
362~®2I{Ué1690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4atAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3C')Q_I- 1A3U3RYARANY»A UCc3%- 3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&4A0AIAGY Y »ACY
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
2 I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 8,479.6 8,479.6
31 Afadu
D/E@pzizU PExaOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 8,479.6 8,479.6
31 Afadu
Dc"L"J}ZlO(j °1 bEUaAUauUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 8,479.6 8,479.6
31 Afadu
- P»YU»AiC ** RCYAGAIAGY Y»IC Ométp»hasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,479.6 8,479.6
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8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Af»YOC 7-A1 NALT2TAT piaicr T=3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 01 p=AYC 01
EUC 03 126G Th=-fi»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAl=YaUY Aew

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T 2 TY»AC

Pa1T=1¢ =YT=VaslA

S ATa0l ASH 1A= - fofiG

P2[eW2VC D2VA=E» T AAIBYA
&N T»M»Y T2ATSYCR BY4RN»E40

T=a3T16a5A=0p

T240=T>AA40AB6Y Y>AC Ta0UCH
U=wase 121 T=6=aoAlaoVY»ic
10US6 Tx3AU3Y [3Eé»i

2 A4l A6
T=212R40Y»AC

\m

@

=

i o=

= 23

. =5

5 o8

> 00

0 > ac

d n

=z 2

80

18 19
AU _2@°UA 12Eé&°d 92,103.2 92,103.2
=1 ATasU
AUA20LT 12E€°8 92,103.2 92,103.2
=1 ATaiU
2pE2T2Ugk 12802Tda0AUacU 0.0 0.0
=1 AaiU
_ABUAT 131140 SRES W3 T310»1 ~ NS I»E3 1x3Y»fi 0.0 0.0
S YEL
- 2RE3TA0Y»AC SRESTST3A0»A " NS T»E3 Tx3AY»f 0.0 0.0
- Z3O?Q?OQ3-I-3Y, 13'!'31_?? EES SR 0.0 0.0
1=3¢3a0Y»iAC &=3n- "3 najl
12&20a0AladUUCBE 1 2482UgU°sE 92,103.2 92,103.2
0cep” 234060
=1 ATasu
P3RAYSIST3Y ISEé»ii 0.0 0.0
SR YEL
- %Y»fi-»WCT 13¢3aiAiasYY»i 0.0 0.0
- TaU&IY3E 136=3a0Ala6Y Yo i 0.0 0.0
- T3AC 13é63(a0Ala0Y Y»ii 0.0 0.0
- 233Nai3-A=13Y I3Eé»n 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0

20la6e=T 01-01-03
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18 19
a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 92,103.2 92,103.2
31 Afadu
- PSS 13Y 1363(aiAla0YY»hi 0.0 0.0
- DBUST31-53(CY 1363(a0AlA0YY»i 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 92,103.2 92,103.2
AYAS6CT Yana-ail ~ a3Na3Vaol (1363la0AlasYY»h 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C YiaoA»fi 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»fi 0.0 0.0
bé%QZPUééDUOB 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NA4atAAsYY»ACY 0.0 0.0
31 Afadu
- AYA3C')Q_I- 1A3U3RYARANY»A UCc3%- 3ICY 0.0 0.0
I3%W=T»A&4A0AIAGY Y »ACY
(¢ 12E6°5 00 00
31 Afadu
2 I3Eé»f 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0
31 Afadu
D/EQPZ’I\?U PExaOUCS 0.0 0.0
31 Afadu
Dc"U}ZlO(j °1 bEUaAUauUCS 0.0 0.0
31 Afadu
- P»YU»AC ** RCYAGAIAGYY»AC O»éup»fiadu 0.0 0.0

20la6e=T 01-01-03
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8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Af»YOC 7-A1 NALT3TAT piaicr T =3ICY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 01 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

P3I»ET31 N 5 - | »é308(3T
200a56=T N 01-03-01

20la6e=T 01-03-01

S[ATA0U ASH TR fofiC

TaRT=1Ch CRE3V40AI3Y,
T 3T3Y 126313103y
NSYASS»T3T3Y
T3AST03CY 1363 13A03Y
U3AUCYY»Aic a3Na=3vail

23030360313V
136=3[a0ARY T31A»AC
é»YmATaill - 1Y Tad
U=03036C313Y
1363(a0Y»fC
13A03ThaiARBY N>

2303036C3T313Y T2040A3Y
STU»AC -ASYOU3Y 1363(a0AIBY
-aflasY»aARY T3W=T»AA03Y
HY3-213640U &»watAlRY Taduco
N=3U3{YuC O»T=T3ACY
AT ICASTI= IC3%anatAlasYY»fic

O —-

AY13U»YA IEETEI RE N CAST3Y36U3Y yoY3Ve3Tanasl
13ec =i K TAAT Asa- N N £ o P P
P PPN x e £ [~ AT&dU Aér 31 At1adu Aé 31 AT1adu Aér
173 33 33 - k) - ~r - ~ - o
BatT=1¢ =YT=vaUa (ﬁ";’l ) ;rfj . IS 3RA0VAC . IS 3a07»AC . IS 3a07»AC
R3O »AAT < > < > < >
A i 0 i 0 [
= '(Y) i o = '(Y) i o = Iz:(o‘5 ;;%
< B = < Bz = < -8
3 082 3 R8s 3 200
" mas m m 05 " 0w
o 0 Q. d o Q. d e 0
S 00 L S 00 L R ot
< 5= < S'= < o0
plemiN
a a (e
1 2 3 4 5 6 7
AU _20°UA 12E€°5 157,891.2 58,670.8 58,670.8] 34,976.3 34,976.3 64,244.1 64,244.1
31 Atadu
AUAZOET 12E6°5 157,891.2 58,670.8 58,670.8| 34,976.3 34,976.3 64,244.1 64,244.1
3 A4l
2pE2T200k 12802T6a0A0a00 84,634.4 49,658.1 49,658.1| 34,976.3 34,976.3 0.0 0.0
31 Atadu
_A=0aT 1x30140 SRESTZT300»0 NS 163 1x3AY»A 84,634.4 49,658.1 49,658.1| 34,976.3 34,976.3 0.0 0.0
3 A4l
- 2RESTA0Y»NC SRES 13130050 - N3 162 1 XSAY» 1 76,7733 41,797.0 41,797.0| 34,976.3 34,976.3 0.0 0.0
- g303020C313Y, 131 313Y -~ a»r 1313y 3 7,861.1 7,861.1 7,861.1 0.0 0.0 0.0 0.0
13631a0V»AC A=A -3 TR&U
12620a0A02000°8L ©1 24520g0°8k 8,940.7 8,940.7 8,940.7 0.0 0.0 0.0 0.0
OPeg” @oadd
3 A4l
P3RAYSTSI3Y 13Ee»N 43787 43787 43787 0.0 0.0 0.0 0.0
3 A4l
- WY»f > Gl 1363aAlasY Y»h 3,286.6 3,286.6 3,286.6 0.0 0.0 0.0 0.0
- Talaoy3E 1=63lashlany Vi 26.5 26.5 26.5 0.0 0.0 0.0 0.0
- T3AC 1=63lasAlany Y»n 865.6 865.6 865.6 0.0 0.0 0.0 0.0
- 2330413 -A=31T3Y 13Eé»h 200.0 200.0 200.0 0.0 0.0 0.0 0.0
Man1a60a60Y»AC ~ RAG= - SlasAladYY»AC 1SEex»n 197.6 197.6 197.6 0.0 0.0 0.0 0.0
a303Y= - 730y 3 1363lanAlasy Y »AG O»elp»nadl 32183 3,218.3 3,218.3 0.0 0.0 0.0 0.0
3 ATasl




€91

20lase=T 01-03-01

1 2 6 7
T DSUS13n-231Y 1563 1a0AaIYY »h 2.305.0 2.305.0 2.305.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 754.4 754.4 754.4 0.0 0.0 0.0 0.0
TA>763031CY ~ NSYASICY 8YVAC 1363la0Aa0YY»h 10.0 100 100 0.0 0.0 0.0 0.0
- U»AI32064068313Y 1=Eé»i 50.0 50.0 50.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 98.9 98.9 98.9 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 22.2 22.2 22.2 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 22 222 222 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 270.0 270.0 270.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DUV BYoRC 63U 1aRa0UV»AC AYASGCT Yana- a0U 2700 270.0 270.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 853.9 853.9 853.9 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 265.4 265.4 265.4 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashnn 499.6 499.6 499.6 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 88.9 88.9 88.9 0.0 0.0 0.0 0.0
ea0k=t=120 Ua=e10°8 ©1 1°U6=Aap=10°8 64,2441 0.0 0.0 0.0 0.0 64,244.1 64,244.1
31 Atadu
846CE=1=Y 0-VARA=Y 1n=U=12Y S n=R=ln aA=Up 64,2441 0.0 0.0 0.0 0.0 64,244 1 64,244 1
Ya3ewY»i (uléoc»Co)
31 Atadu
T2EVASETY»n HaicnCo 64,2441 0.0 0.0 0.0 0.0 64,244.1 64,2441
2UE 12E6°8 72.0 72.0 72.0 0.0 0.0 0.0 0.0
31 Atadu
D3>, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, éﬁéYU ) 40.0 40.0 40.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2 I3Eé»i 32.0 32.0 32.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 03

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

P3I»ET31 N 5 - | »é308(3T
200a56=3T N 01-03-02

20la6e=T 01-03-02

S ATl AS T 1A= -fiofiC

TarT=1Ch CRE=VasAR=Y,
T3T3Y T3E313AU3Y
NSYASE»T3T3Y
TSASIU3CY 1363 T3A0U3Y
U3AUCYY»AC a3Na=3YaiU

a»r3I3Y
ICx3T3 /313y
O T3 T TAABY
NS T303-fasl

DOISTIST3Y
W»EYaA-C3Y»AiC
&rann ¢ EASYU3Y
136=3(a0AlaYY»1i

flasunias -~ 1=3Y=04afc
™ EYéEa -C ,31_3?
T»Y W RAAYY»ic

-afTa0Y»aoAl=Y

CAsT=Y=60U3Y T7i= -G

AY130»YA
o v cmya e =j Araol) A6 =ja ATl Ae = ATal A6 =1 ATl AST
BATT=IC SYT=vaUA -a0USIA - T2 340V»AC - T=rsaadv-iac | o | 1Ersaaovsic | - | TEr=nadvsic
(N=%=n G G G @
1A2UY»RAT) < < £ b
ul > ul > i >, 0 >, B
= > m_ 5 = > m_ ‘5 = .m >_ &:}g = .m >_ &:}g
< &y 8 < &y 8 < R < TN
> 0 ciZ > 0 g > 025 = RN 025 e
3 L 3 L 3 AT &N 3 AT &N
f M= 0 f M= 0 f Rl f Rl
d 0 P o 0 P o e o e
> % > % > =W > = F
< &= < &= < gy < g %27y
\mm \mm > >
1 2 3 4 5 6 7 8 9
AU_20°UA 12E6°5 395.279.7|  213,719.7 213,719.7| 112,804.1 112,804.1| 5491.6 5491.6] 14,9595 14,959.5
31 Aracl
AUAZOAT 12E6°5 395279.7| 213,719.7 213,719.7| 112,804.1 112,804.1 5491.6 5491.6] 14,9595 14,959.5
31 Atasl
2pE=T120gk 1260216a0A0a00 300,012.3|  194,849.1 194,849.1| 104,780.4 104,7804| 38238 3828 0.0 0.0
31 Atasl
_A=UaT [x3N140 SRESTST2A00A N2 1562 [x 30 300,012.3|  194,849.1 194,849.1| 104,780.4 104,7804| 38238 3828 0.0 0.0
31 Arasl
T2RES1A0Y»AC SRES NS T2A00A N2 i Tx SNV 258,700.0|  153,536.8 153,536.8| 104,780.4 104,7804| 38238 3828 0.0 0.0
A o= E ] ST T 413123 41,312.3 413123 0.0 0.0 0.0 0.0 0.0 0.0
126=340Y»AC A=A -"=TR&
T12&820a0AUa0U°8K ©1 2a6=UgU°0k 25,256.7 18,6412 18,6412 6,079.7 6,079.7] 5358 535.8 0.0 0.0
0cep” 8200
31 Atasl
b=nay S1=13Y 12Ee»n 18,150.2 14,2419 142419 38583 3,858.3|  50.0 50.0 0.0 0.0
31 Atasl
I -> UGl 126 A0AE0Y V1 13,0724 10,149.9 10,1499 29225 2,9225 0.0 0.0 0.0 0.0
- Talay=t 126=la0Ala0y Yoh 784 50.9 50.9 275 275 0.0 0.0 0.0 0.0
“T=3C 126=3aAa07Y»n 3,825.0 2,953.7 2,953.7 821.3 821.3|  50.0 50.0 0.0 0.0
“23=ar=-A=1=Y 12Eesh 540.0 453.0 453.0 87.0 87.0 0.0 0.0 0.0 0.0
~qI&0IC ~ 6=AU= TARA0UY»AG T 210> 1 SLabAlaDY 634.4 634.4 634.4 0.0 0.0 0.0 0.0 0.0 0.0
ManTa00a00Y»>NG ~ RAC= - SIA0ARGYY»NG 1= Ee»h 1,688.2 721.9 721.9 966.3 966.3 0.0 0.0 0.0 0.0
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20la5e=T 01-03-02

1 2 3 4 6 7 8 9
a=lU=Y= =0y S 126 A0AR0 V2 O»eUH»naiy 2.169.7 874.2 874.2 809.7 809.7| 4858 4858 0.0 0.0
31 Atadu
- D3UBT3n-33ICY 13¢3(a0AlA0YY»h 790.3 304.5 304.5 0.0 0.0 485.8 485.8 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 903.4 93.7 93.7 809.7 809.7 0.0 0.0 0.0 0.0
- U»AI3204068313Y 12Eé»i 64.0 64.0 64.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 412.0 412.0 412.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= - Cu=T=Y 15650Ra0T Vi Ovelp»iaiy 30 3.0 30 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 30 3.0 30 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126 A0Ra Vi 381.3 3113 3113 70.0 70.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DU BYoRC 630U 1aRa0UV»AC AYASGCT Yana- aoU 381.3 3113 311.3 70.0 70.0 0.0 0.0 0.0 0.0
asNazvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 2,864.3 2,488.9 2,488.9 375.4 375.4 0.0 0.0 0.0 0.0
31 Atadu
- IAZe»YIRT3(CY YiaiA»n ~ N=- 46 1,067.7 856.3 856.3 211.4 211.4 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 1,739.1 15751 15751 164.0 164.0 0.0 0.0 0.0 0.0
TI>63031CY ~ NSYRSICY 8YVAC VIAbA 575 575 575 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 67,837.3 0.0 0.0 0.0 0.0 4,573.0 4,573.0( 14,959.5 14,959.5
31 Atadu
AVASGCT 1=U=RYANNT >t 8o W =T N1 121G F 19,5325 0.0 0.0 0.0 0.0[ 4573.0 4,573.0| 14,9505 14,950.5
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
“2EAVASOCT 1n3USRYARNY > 195325 0.0 0.0 0.0 00| 4573.0 4,573.0| 14,9595 14,9595
! SACT 3t :!-ﬁ3U,3f3YéﬁNY»ﬁ T 3IBYNITI3IC 3( 48,304.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
- 2 T340 3 1ASU3RYAANY»A 48,304.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étuesd ©i I°eué=2Aap21U°s 1,944.0 0.0 0.0 1,944.0 1,944.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 1,944.0 0.0 00| 19440 1,944.0 0.0 0.0 0.0 0.0
Ya3ewY»i (plaoc»Co)
31 Atadu
T2EVASE T Yon HaicnCo 1,944.0 0.0 00| 19440 1,944.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 229.4 229.4 229.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3AI»fA, &3AT31CA Tx3AY»A " wail»i, afava 229.4 229.4 229.4 0.0 0.0 0.0 0.0 0.0 0.0

12631302 T3fpsA USTSAISTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
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AUA20LT 12Eé°8 907,376.3| 832,863.9 832,863.9| 24,6225 10,570.5 435.0 795.0| 1,080.0] 1,701.0| 3,315.0| 456.0| 2,383.5
31 Atasl
. 02@2pUasbles 74,512.4 0.0 0.0| 24,622.5 10,570.5 435.0 795.0| 1,080.0] 1,701.0| 3,315.0| 456.0| 2,383.5
31 Arasl
AVAZ6CT TA2USRYANNY»N 80 1 213V NS 11310 3E 74,5124 0.0 0.0] 24,6225 10,5705| 4350 795.0| 1,080.0| 1,701.0| 3,315.0| 456.0| 2,3835
UST2AI2TY»ACY
31 Atasl
~ AVASGCT 8A0UT»Y0C=Y 1 NSUSNUY»ACY 10,5705 0.0 0.0] 10,570.5] 10,5705 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~AVAS6CT 12USRVARNY»A 8» 13137 - NSUSNU2I0Y 44 51,4274 0.0 00| 1,537.5 0.0 0.0 795.0 0.0 0.0 0.0 0.0 0.0
3¢ WASICY 13X T»AAA0AIAYY»ACY
~AVA=OCT T=U=RYARNT > 8o 12127~ N=U=N 010y 435.0 0.0 0.0[ 4350 0.0[ 4350 0.0 0.0 0.0 00[ 00 0.0
3¢ TA3ICY T3WST»AAA0AAYY»ACY
- 2[f AYA36CT 1A3U3RYARNY»A 12,079.5 0.0 0.0 12,079.5 0.0 0.0 0.0 1,080.0( 1,701.0 3,315.0| 456.0| 2,383.5
20E 12Eé°s 832,863.9| 832,863.9 832,863.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
2[f ISEé»h 832,863.9| 832,863.9 832,863.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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8§32 T3VC DBYASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dsc»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Eex»AC -aR136Y2T3Y 1263137 U3Y 02 u=AYC 05

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

S ATa0l ASH T7=-fofiG

2FAYTASYO=CY T=63laiARY
=5=Naraiu

PAIUSYCT A
ST3Y3YATUSY -
+afo=-Cur 313y

[=6=la0Aa0 V> iiC
I=W=T»AA40
= ATl AG 3 ATa00 AGT
PALT=IC 3YT3Y45UA 1=713A40Y»AC = I3 T3[a0Y»fC
lg \i o
> > > > ul )
ST | ok | g2 | gl | = ek
al gl e RO = [
5 A S'a 8 'a v A 3 oF )
cq | 2 |eg | Lg| 7 =
o | 85 | g2 | g8 | & 7 il
0 0 0 0 < o
D D D D >
a8
13 14 15 16 17 18
AU_2g°UA 12E6°5 1,605.0| 1,269.0| 742.5| 270.0| 49,889.9 49,889.9
=1 ATa00
AUAZOET 12E&°5 1,605.0| 1,269.0| 742.5| 270.0| 49,889.9 49,889.9
{1 ATao0
. 8202pUasbUes 1,605.0| 1,269.0| 742.5| 270.0| 49,889.9 49,889.9
{1 ATao0
AVAS6CT TRSUSRYARNT»h 80 12137 N1 121G SF 1,605.0| 1,269.0| 742.5| 270.0| 49,889.9 49,889.9
UST2R2STY»ACY
=1 ATao0
~AVAS6CT 6a0T»Y00=Yoh N2USNUY»AGY 0.0 00| 00| 00 0.0 0.0
- AVAS6CT TnSUSRYaRNY»h &» 12137 -~ N2USNiSKY &3 0.0 0.0 7425 00| 49,889.9 49,889.9
36 TAZCY T3S T»AAA0AA0YY»ACY
~AVASGCT =0V ARy »i B 12 12Y -~ NS0 a2y 0.0 00[ 00[ 00 0.0 0.0
36 TAZCY T3WST»AAA0AA0YY»ACY
-~ 2 AYA=6CT 1A= U=RYanNy»f 1,6050| 1,2690| 00| 2700 0.0 0.0
20E 12E6°5 0.0 00[ 00| 00 0.0 0.0
=1 ATao0
B 0.0 00| 00] 00 0.0 0.0

20la6e=T 02-05-01
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P3I»ET31 N 5 - | »é308(3T
200a56=T N 03-01-01

20la6e=T 03-01-01

=1 ATai0 Aer TiA= - finAc
PD 3YOY3-finfiC P3E3AST3T3Y 130-C AW ST alBUSASYCRY»AC
HESYTY»AC A= -fiathlasy | &=Na=svasAi=y =a=Narail O»éup»hiasy
AYLI3U»YA
ba2 1=l 2V =74l P = Afaol A =h A&l Aer =i ATao0 Ae
(=53 - 137131a0Y»AC - 131 3A40Y»AC = I3 340V »iC
1A30Y»far) < z < z = el
0 03 0 0oz 0 n >
= 33 ;% = 33 ;% = 33 ;%
. N =R . Nl =i . G ac
=) \om z U] S \o— z U] S \= z U]
0 0 0= 0 0 D= 0 0 0=
g w M & g w M © g w M &
\>_ I- \>_ I- \>_ I-
5 P £ vE < i
N @ N \@© N @
a a a
1 2 4 6
AU_2@°UA 12E&°5 9,376,833.4| 79,732.3 79,732.3| 8,485,202.3 8,485,202.3 23,623.0 23,623.0
=1 ATasu
AUAZOAT 12E6°5 9,376,833.4| 79,732.3 79,732.3| 8,485,202.3 8,485,202.3 23,623.0 23,623.0
SR YEL
2pE2120gk 1260210a0A0a0U 8,106,847.3 0.0 0.0[ 7,341,396.3 7,341,396.3 0.0 0.0
SR YEL
_A=Ual 1x2n1a0 SRES NS T30~ NS 163 IX3AY»N 8,106,847.3 0.0 0.0[ 7,341,396.3 7,341,396.3 0.0 0.0
=1 AaiU
- 2RESTA0V»NC SREST 31300 N2 1263 13NV »h 8,054,488.2 0.0 0.0[ 7,289,037.2 7,289,037.2 0.0 0.0
- B203030C313Y, 131313 - A 113 3F 52,359.1 0.0 0.0] 52,350.1 52,350.1 0.0 0.0
1363(40Y»AC &30 -3 fal
12820a6AUa600°8K ©1 2a020sU°0k 1,073,429.6] 79,7323 79,7323 963,0635 963,063.5 23,623.0 23,623.0
0ceg” °8a00
=1 ATaiU
P3RAYSI=T3Y ISE6x 481,149.5 0.0 0.0 480,726.8 480,726.8 0.0 0.0
=1 AaiU
“I>R-»> W CT 12€3a0Aa0Y Yo 340,131.1 0.0 0.0] 340,131.1 340,131.1 0.0 0.0
- 1aUa0Y3E 13€31a0Aa0Y Vo 14,678.8 0.0 0.0] 146438 14,643.8 0.0 0.0
- T340 1363la0Aany Y»n 74,6284 0.0 0.0 74,2407 74,240.7 0.0 0.0
-2530ai=-n=13Y 1SEé»n 40,000.0 0.0 0.0[  40,000.0 40,000.0 0.0 0.0
- a0l0C — E3A0ST1anaUY»AC 130> 1 Sta0AlanYy 3,969.2 0.0 0.0 3,969.2 3,969.2 0.0 0.0
C2AN S SRS I »Ea= 13Y [SEe»n 7,742.0 0.0 0.0 7,742.0 7,742.0 0.0 0.0
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20la6e=T 03-01-01

1 2 3 4 5 6 7
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 71,340.2 0.0 0.0 68,671.1 68,671.1 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 25,754.9 0.0 0.0 25,754.9 25,754.9 0.0 0.0
31 Afadu
- I3MEST3Y 13¢3la0AIaY Y» i 2,236.8 0.0 0.0 2,236.8 2,236.8 0.0 0.0
- D3UST31-543(CY 1363A0AI6YY »1 3,163.0 0.0 0.0 3,163.0 3,163.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 2,020.4 0.0 0.0 2,020.4 2,020.4 0.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 164.9 0.0 0.0 164.9 164.9 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasyY»h 1,500.0 0.0 0.0 1,500.0 1,500.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 3,529.9 0.0 0.0 3,529.9 3,529.9 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0Alasy Y»h 13,139.9 0.0 0.0 13,139.9 13,139.9 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 150.0 0.0 0.0 150.0 150.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 150.0 0.0 0.0 150.0 150.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 6,053.0 0.0 0.0 6,053.0 6,053.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-ail = 6,053.0 0.0 0.0 6,053.0 6,053.0 0.0 0.0
a=Na=vail
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 488,982.0( 79,732.3 79,732.3 381,707.7 381,707.7 23,623.0 23,623.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 111,030.6 0.0 0.0 111,030.6 111,030.6 0.0 0.0
- TASYEAANT3ICY YiasA»i 226,332.8 0.0 0.0 222,413.8 222,413.8 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 33,160.3 0.0 0.0 33,160.3 33,160.3 0.0 0.0
- D3 a6l YA3 W 313(CY 3 YiaoA»i 118,458.3| 79,732.3 79,732.3 15,103.0 15,103.0 23,623.0 23,623.0
eao” ek £E20°8 10,832.8 0.0 0.0 10,832.8 10,832.8 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AA&AEIYY»ACY 10,832.8 0.0 0.0 10,832.8 10,832.8 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 10,832.8 0.0 0.0 10,832.8 10,832.8 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 9,104.0 0.0 0.0 4,873.8 4,873.8 0.0 0.0
31 Afadu
. AiSU=RYAANY»f UCe=%- 3GY T3S T»AA4a0AB0YY»ACY 1,139.7 0.0 0.0 1,139.7 1,139.7 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 1,139.7 0.0 0.0 1,139.7 1,139.7 0.0 0.0
I3%=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 7,964.3 0.0 0.0 3,734.1 3,734.1 0.0 0.0
UST3A1=TY»CY
31 Afadu
- 2[E AYAS6CT 1ASUSRYARANY»A 7,964.3 0.0 0.0 3,734.1 3,734.1 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aap21U°s 138,050.3 0.0 0.0 126,466.5 126,466.5 0.0 0.0
31 Afadu
€40C3E3T3Y 3a3NaTaAIBY YA3e T Y»i 2,500.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0

=1 ATadu




66T

20la6e=T 03-01-01

1 4 5 7
TAVSCY WY T »Ba0AAYY>CY 1ASUAT TXSNT40 2,500.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0
840C3E3T3Y 2a=3NaTa0Al3Y Tx3iY»f
Ga0C3E2T3Y (- YalAlBY 1A3U=T3Y S 3N=3w aiAl=up 135,550.3 0.0 0.0 123,966.5 123,966.5 0.0 0.0
YaS&TY»h (Uadig»Co)
=l Atasy
T2EVASE T Yon HaicnCo 135,550.3 0.0 00| 123,9665 123,966.5 0.0 0.0
2UE 12Eé°0 38,569.4 0.0 0.0 38,569.4 38,569.4 0.0 0.0
=l Atasy
P3fil»f, A3 W 31CA 1x3iAY»i ~ wWailA»i, afayo 5,646.4 0.0 0.0 5,646.4 5,646.4 0.0 0.0
T363T3AU3Y TR UST3ATSTY»AC Ta0UCo TCh=éT a0
»Y UCUI=Y6 YT=wU=0p
2 ISEé»f 32,923.0 0.0 0.0 32,923.0 32,923.0 0.0 0.0




00¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaic» T=3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

Pa1T=1¢ =YT=VaslA

S[ATa00 ASH TR fofiC

Pb &» W 3T3Y 136313003y
USAUCYY»AC =
T3UW3T»AA4A0AIA0YY»AC B»YU»AC
" RCYASAIAGYY»AC, CYa&»E Y3
T=A/"an=- 4y YR3Y=3TaARY
OubTHY»AC &3Na3VYaiAlasy

PP AU, BD T2 221 TATé»A, UCGCY, 273 7 P
48 W CT3YAARY UCeCY, 313 -, -fE=3Tan
EA3BT3Y 3YOYST34UCY” T»Y6=203(CY

THEYCTC O»60p»AU=YY S¢=Toxtas YRS T3TaT
TABUS17740 632640313V T3RT»AC
TaTa6=- aU=AY»fA 2 T30 3 TATA8=3(CY T»ar
N=3U=3yCcY=ve3ianl3yY TA=-Ch

=i A7 a0 AST
T=02Ra0V»AC

21 Afal AS
T=7=2/a0Y»AC

3 3

< T <

0 nox= 0 o

= g 8 = 3 ;;%

< &3 < 8

i 3 3;%_ R A P2

) -2 o) 00

0 0 U= 0 S

d o M o d S0

\>_ I- \>_ :Lu

< L9 < 20

'8 @ >

8 10 11
AU_2g°UA 12E6°5 784,045.6 784,045.6 4,230.2 4,230.2
=1 ATasu
AUAZOET 12Eé°3 784,045.6 784,045.6 4,230.2 4,230.2
SR YEL
2pE2T2Ugk 12802Tda0AUacU 765,451.0 765,451.0 0.0 0.0
SR YEL
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 765,451.0 765,451.0 0.0 0.0
=1 AaiU
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»ES Tx3AY»h 765,451.0 765,451.0 0.0 0.0
- a303030C313Y, 13T33Y 7 »T3I3Y 3 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - = 1A&U
1282026A0a50U°8K ©1 2a02UgU°0k 7,010.8 7,010.8 0.0 0.0
0°ég” Coadv
=1 ATaiU
P3RAYSI3T3Y ISEé»ii 422.7 422.7 0.0 0.0
=1 AaiU
“UY»ii- >0 CT 12631A0AIE0Y Y»h 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 35.0 35.0 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 387.7 387.7 0.0 0.0
- 283NaT=3-A=13Y I13Eé»i 0.0 0.0 0.0 0.0
- F&dloC  e3Au3 T1anasUY»AC 1303 T3ta0AlasY 0.0 0.0 0.0 0.0
- 2AT 3 »AST»EEZT3Y I3Eé»f 0.0 0.0 0.0 0.0

20la6e=T 03-01-01



TOC

8 10 11
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 2,669.1 2,669.1 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0
31 Afadu
- I3MEST3Y 13¢3la0AIaY Y» i 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AI6YY »1 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0YY»ii 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0
- AYIN=Y4H7 pYadlAC 3k 1=363a0AlaiYY»h 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vaol (1363la0AlasYY»h 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu - 0.0 0.0 0.0 0.0
a=Na=vail
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 3,919.0 3,919.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 3,919.0 3,919.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0
- D3 a6l YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
. 6%@290369006 0.0 0.0 4,230.2 4,230.2
31 Afadu
. AiSU=RYAANY»f UCe=%- 3GY T3S T»AA4a0AB0YY»ACY 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%=T»A&40AIAGY Y »ACY
AYA3OCT 1r~‘,l3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 4,230.2 4,230.2
UST3A1=TY»CY
31 Afadu
- 2[E AYAS6CT 1ASUSRYARANY»A 0.0 0.0 4,230.2 4,230.2
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aap21U°s 11,583.8 11,583.8 0.0 0.0
31 Afadu
€40C3E3T3Y 3a3NaTaAIBY YA3e T Y»i 0.0 0.0 0.0 0.0

=1 ATadu

20lase=T 03-01-01



20¢

8 9 10 11
TAVSY WV U EaAROVVNGY T=UAT Tx=N T80 0.0 0.0 0.0 0.0
8460C3E313Y 3a3NaTa0AI3Y 1x3iY»i
éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 11,583.8 11,583.8 0.0 0.0
Ya3&wV»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 11,5838 11,5838 0.0 0.0
ZUE~ 1 2Eé°6 0.0 0.0 0.0 0.0
31 Atadu
P3AT»A, é’l?ﬁ"l'31§ﬁ I'X?ﬁY»ﬁ ” 'I'éﬁﬂ,&))ﬁ, a[”]aYu ‘ 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=6T 400
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0

20lase=T 03-01-01
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

S ATa00 AST T7=-fofiG

2y 3CY YT T3y - A=Y
=5=NaraiU

=1 ATl Asr

AVIZU»YA - TS 3A40V»AC
=60 =
PATT3IC 3YT3YaiUA -aiU3hA 0 T o
(N==n Twlx
1R3UY»AAT) - R
> e (T') \® L
> \m- i 6‘ 8
U] 0 A U]
Rl NS bg)v
<L n % ; \—
=8
8 u]
1 2 3
AU _2g°UA 12E&°s 4,060,588.2] 4,060,588.2 4,060,588.2
=1 Afasl
AUAZ0AT 12EE°8 4,058,713.2| 4,058,713.2 4,058,713.2
=1 Afasl
2pE2720gk 12802162a0A0a00 3,360,079.0| 3,360,079.0 3,360,079.0
=1 Afasl
_A3Ual 1x3n1a0 SRESTST310»1 ~ NS 1»E3 1x3Y»A 3,360,079.0| 3,360,079.0 3,360,079.0
=1 Afasl
- 2RE3Ta0V»AC SRESTST3A0»A ~ NS T»E3 1x3Y»f 3,360,079.0| 3,360,079.0 3,360,079.0
12620a0A02000°8L ©1 245620g0°8k 634,041.8| 634,041.8 634,041.8
OPep” °5a00
=1 Afasl
b3y ST313Y 1SEéxn 405,203.5| 405,203.5 405,203.5
=1 Afasl
S WY»R-» 1 CT 1263asAlasy V»h 322,000.0| 322,000.0 322,000.0
PV EIEE T 20,2035 20,203.5 20,203.5
-134C 1=63ahlay Y»n 41,000.0 41,000.0 41,000.0
-253Mai=-A=13Y 13Eé»n 22,000.0 22,000.0 22,000.0
Tanias0asUY»AC -~ RAc= - SlatAlasYY»AC 1SEé»h 35,000.0 35,000.0 35,000.0
a=30=Y=-A3CY 3E 1363a0AlaiY Y»1C O»etpm»iiasy 29,200.0 29,200.0 29,200.0
=[x Afasl
- D3U3T30-33ICY 13631a0AlaivY »h 26,200.0 26,200.0 26,200.0
- U»il330640053T3Y 13Eé»h 3,000.0 3,000.0 3,000.0
2 (2673 -Cr3T13Y 13631a0AlaiYY»AC O»etp»nadiy 4,500.0 4,500.0 4,500.0
=1 Afasl
S O3EY3-CH 313 1363/a0Na0Y Yo i 4,500.0 4,500.0 4,500.0

200a56=3T N 03-01-02

20la66=T 03-01-02



144

1 2 3
OlasA»n (ZAR=YUV»1) 160,138.3| 160,138.3 160,138.3
= A7 40U

-~ R=e»YI=T=ICY VIah»n ~ N=-ae 10,216.8|  10,216.8 10,216.8
SANSYERAN T =0V Viaoksh 128,000.0| 128,000.0 128,000.0
“T»Y6=20=ICY ~ N2YA=ICY EYYAC VIatAh 16,9215| 16,9215 16,921.5
“D=1a0l YAS 1 =127 3 ViaA»h 5,000.0 5,000.0 5,000.0
20E 12E&°5 645924  64,502.4 64,592.4
= A7 400

D=ATon, A3 S1CH TX0YoM 1 &N, ANAYU ‘ 2,000.0 2,000.0 2,000.0
I26=T2A02Y T2Asi USTSASTY»AC Ta0UC6 1Gh=éT 46U

»Y UCUI=Y6 YT=wU=0p

2F 1=Eé»h 62,5924  62,592.4 62,592.4
24 uEU20&2120 ZTTA1UCSE T1a1 126695 1,875.0 1,875.0 1,875.0
= A7 400

pEDUZT120 Pk2a0U°8 1,875.0 1,875.0 1,875.0
= A7 400

20E pE@U=120 0E=a00°5 1,875.0 1,875.0 1,875.0
= A7 400

“USE=- 13> 13/ 313Y 12E6» 1,875.0 1,875.0 1,875.0

20la66=T 03-01-02



S0¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUKG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
ISEe»AC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

Sh AT AST 1A= - fofiC

a» =13y a=3Nasvashi=y
=5=Naraiu

= ATasl Aew

AVIZU»YA - TST3A40V»AC
o =260 e
PALT=C 3YT=YaiUA - 85U3A K .
(== = 70
1A3UY»iar) < LS g
= n 8
! R
z anl
o
1 2 3
AU_2g°UA 12E6°5 626,025.8| 626,025.8 626,025.8
=1 Afas0
AUAZOET 12E&°5 626,025.8| 626,025.8 626,025.8
=1 Afas0
2pE2T2Ugk 1200210a0A0a5U0 473,962.2| 473,962.2 473,962.2
=1 Afas0
2041 X310 SRES 1120000 NS >3 1X3AV»h 473,962.2| 473,962.2 473,962.2
=1 Afasl
“2RESTA0Y»NC SRES NS T30~ NS ToE= [x2AY»h 473,962.2| 473,962.2 473,962.2
12820a0A0a000°8K ©1 2a0620sU°8k 127,463.2| 127,463.2 127,463.2
0°ep” ©3200
=1 Afas0
P3Rav= 13137 ISEé»n 23,632.8| 23,632.8 23,632.8
=1 Afas0
“UY»h-»> W CT 126=1a0Aa0Y YA 14,549.7| 14,549.7 14,549.7
- TaUa=E 1=63la0kany Yo i 791.6 791.6 791.6
“T=AC 126=a0RaTV»n 3,006.0]  3,006.0 3,006.0
“233Na1=-A=13Y 12E6»A 5250.0| 5,250.0 5,250.0
“9TAC ~ ESAUS TANAUY>AC T30 T StaoAlaoY 355 355 355
MaRTa00a0Y»NC ~ BAC= - SAGAAIYY»AC 1=Eéx»n 42,150.0| 42,150.0 42,150.0
a3lU=Y3 - A=Y SE 1S631a0AR0Y V»NC 0»€Up»Rail 4,500.0]  4,500.0 4,500.0
=1 Afas0
OO TETT2T3Y 1262a0Aa0YY»h 2,600.0]  2,600.0 2,600.0
“T»Y6=0310Y ~ N3YASKY eYYC 1=6=1a0Alany V»n 160.0 160.0 160.0
- U»AI=26a006= 127 126 540.0 540.0 540.0
—AYIN=Yaon pYatAC =E 1=6=aokaoy Y»i 1,200.0]  1,200.0 1,200.0

P31»tT31 N 5 - | »é308(3T

200a56=T N 03-01-03

20la6e=T 03-01-03



90¢

1 2 3
2EUS6Y= -G =T 156=0Ra0T V-G OveU»iaiy 2175 2175 2175
31 Atadu
- @3EY3S-CU313Y I363aAlabYY»ii 217.5 217.5 2175
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 6,7050| 6,705.0 6,705.0
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢adloY»AC AYASOCT Yana-ail =~ A3Na3Yail 500.0 500.0 500.0
DUV 3YoRG  63AUS 1 aRa0UY»AC AYASOCT Yana-ail 6,2050| 6,205.0 6,205.0
asNa=vail
UlaAon (FRR=V0Y»1) 50,257.9] 50,257.9 50,257.9
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 7.8495| 17,8495 7,849.5
TARSYERAN T 3CY VIAA N 41,2754| 41,2754 41,275.4
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 9355 9355 9355
TPITAT YASTII3CY 3L Viaohon 1975 1975 1975
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 4,000.4]  4,000.4 4,000.4
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 4,0004|  4,000.4 4,000.4
Ya3ewY»i (uléoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 4,0004|  4,000.4 2,000.4
2UE ~‘| ZEéoé 20,600.0| 20,600.0 20,600.0
31 Atadu
D3RIon, AR S1CR Tx2RT>n T alkoR, AHaT0 ‘ 600.0]  600.0 600.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 20,000.0| 20,000.0 20,000.0

20la6e=T 03-01-03



L0¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 02

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=3T N 03-02-01

S ATA00 AST 17 -fofiG

TaRT=1Ch CRE3V40AI3Y,
T 3T3Y T=26373AU3Y
NSYASS»T3T3Y
TIASI0=BCY 136313003y
USAUCYY»AC &3N&=YaiU
(Y2E=A21aAIYY»iC

oiI=f=h [=2623laA=Y
N=U=T3h-C

BT ARSPBASYAUY»AC
a3Nasvail

AVIZUnVA SRESTSTUUSAC US64T)
ba2 1=l 2V =74l N = ATa0 A6 30 Aral AST
el i3Yal -ail=n Tz s AV & T ARy
(N=y%=H = 1=1=na0Y»n¢ - I3 31a0Y»Mi¢
1RB0Y»AAT) = o = o
\lmE = gg \lmE = gg
< ;m_ zZ 8 <L ;m_ =
I n e A n e
o - x o - x
Ul c O [U] e O
d n=0 d =0
Z 0 > 0 U
. 8 = m < 8 =
ol sl
1 2 3 4 5
AU _2@°UA 12E&°3 1,501,021.7 236,934.1 236,934.1( 1,264,087.6 1,264,087.6
=1 ATadu
AUA20ET 12E&°3 1,501,021.7 236,934.1 236,934.1( 1,264,087.6 1,264,087.6
=1 Afadu
2pE2T2Ugk 12802Tda0A0a0U 1,342,310.8 208,782.7 208,782.7( 1,133,528.1 1,133,528.1
=1 Afaiu
L ABUAT 1x3AT40 SRES WS T30»f 7 NS T»E3 Tx3AY»fi 1,342,310.8 208,782.7 208,782.7( 1,133,528.1 1,133,528.1
=1 Afadu
- 2RE3TA0Y»AC SREST3T300»0 " NS T»E3 1 x3AY»fi 1,288,075.4 163,085.0 163,085.0| 1,124,990.4 1,124,990.4
- =203030C313Y, 137 313Y ~ T 313Y 3¢ 54,235.4 45,697.7 45,697.7 8,537.7 8,537.7
13631a0V»AC A=A -3 TR&U
jZéZUéﬁAUéSUUc’BﬁE °1 2582UgU°s8E 139,599.0 27,849.7 27,849.7 111,749.3 111,749.3
0°eg” °daid
=1 Afadu
P3A4YST3T3Y I3Eé»i 80,809.4 24,030.2 24,030.2 56,779.2 56,779.2
=1 Afagu
“3Y>A-» TGl 1263a0AET VA 50,465.6 20,447 1 20,4471 30,0185 30,018.5
- TaU&IY3E 136=3{40Ala6Y Yo i 4,335.5 120.5 120.5 4,215.0 4,215.0
“T2AC 1363a0NaNTY»h 11,154.3 2,822.6 2,822.6 8,331.7 8,331.7
- 233Nair=-A=13Y ISEé»i 12,760.0 640.0 640.0 12,120.0 12,120.0
~A0C  ESAUSTARGIUY»AC TR0 T 3ta0Aa0Y 2,004.0 0.0 0.0 2,094.0 2,094.0
MaRTa00a0Y»NC ~ BAC= - SA0ARIYY»AC TSEé»h 4,858.8 469.2 469.2 4,389.6 4,389.6

20la6e=T 03-02-01



80¢

1 2 3 4 5
a=lU=Y= =0y S 126 A0AR0 V2 O»eUH»naiy 13856 4301 430.1 9555 9555
31 Atadu
- D3UBT3n-33ICY 13¢3(a0AlA0YY»h 717.9 262.4 262.4 455.5 455.5
- DO ISTT3T3Y 136340Ala5YY»A 167.7 167.7 167.7 0.0 0.0
- U»AT3(206400521T3Y I3Eé»f 500.0 0.0 0.0 500.0 500.0
2EUSEY= - Cu=T=Y 15650Ra0T Vi Ovelp»iaiy 699.0 0.0 0.0 699.0 699.0
31 Atadu
TP -G 3137 126310 Voh 699.0 0.0 0.0 699.0 699.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126> R0AR6 Y - 6255 6255 6255 0.0 0.0
YlaoA»fi)
31 Atadu
DU 3YSRC  E3AUSTARG0UYSAC AYASGCT Yana- 4l 6255 6255 6255 0.0 0.0
asNazvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 51,220.7 2,294.7 2,294.7 48,926.0 48,926.0
31 Atadu
- AZe»YIRT3(CY YiaiA»n ~ N=- 46 10,694.1 429.0 429.0 10,265.1 10,265.1
- A03TY T »E313Y SAR/3YUY»h 509.6 0.0 0.0 509.6 509.6
TANSYeAAN T 3T Yiashnn 35,5274 1,399 1,3969| 34,1305 34,1305
TI>63031CY ~ NSYRSICY 8YVAC VIAbA 4688 4638 468.8 0.0 0.0
DT AT YAS T ST3Y SE VIaoA h 4,020.8 0.0 0.0 4,020.8 4,0208
éélOfEZEZTZU Ua=2éTu°s @i I1°eUé2Aab21U°d 15,759.0 0.0 0.0 15,759.0 15,759.0
31 Atadu
éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 15,759.0 0.0 0.0 15,759.0 15,759.0
Ya3&wV»f (lase»Co)
31 Atadu
- I»YESAARZIC BYOY»Ea0 N> I1BA&T31 " W 3AC0u3ICY 15,759.0 0.0 0.0 15,759.0 15,759.0
Ya&3&rY»h plasc»Co
2UE ~‘| ZEéoé 3,352.9 301.7 301.7 3,051.2 3,051.2
31 Atadu
D3AlI»A, &3AW31CA Tx3AY»A ~ waild»i, afayo 3,352.9 301.7 301.7 3,051.2 3,051.2

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p

20la6e=T 03-02-01



60¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 03

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=T N 03-03-01

20la6e=T 03-03-01

S ATa0l AS T 1A= - fofiG

pp =(U=y=1A3T3Y

_LBWET3Y 2T0AC
N=AT=2CA T=r=haily

PP 12T 3ASYY»C

=1 ATadu

137 3R3Y¢ &3N&3Yal | 3a3Nairal 1=é3(ail=yY a3Nasvasl
a3Nasvail
AYTZU»YA 31 ArasU A 31 Afaol Aer 3 AT400 A
S 136C - T=1=RA0Y»AC - TS T=Ra0V»AC - T=T=2040Y»AC
Pa1T=1C 3YT=Y45UA -40U=HiA T = T T
(\=4=h 0 1] 0 RS 0 -
1A3UY»Aar) = o - < i< 3 < (?‘)- L
N S N - N nm
3 > 3 20 3 =
f - f S f 0 ic
g 20 g e 0 g a0
< fo- < 0 < R ®
o > o
5 0
1 2 3 4 5 6 7
AU)ZQOUA 12E68°58 1,994,992.4] 107,340.1 107,340.1| 271,942.3 271,942.3| 1,615,710.0 1,615,710.0
=1 Afasl
AUAZ20ET 12Eé°8 1,994,992.4] 107,340.1 107,340.1| 271,942.3 271,942.3| 1,615,710.0 1,615,710.0
=1 Afasl
2pE2T2Ugk 12802T10a0AlasU 1,675,033.0 90,748.0 90,748.0| 216,617.2 216,617.2| 1,367,667.8 1,367,667.8
=1 Afasl
. A3UAT Tx3AT40 3RE3 T 3T3A0»A ~ NST»E3 Tx3AY»fA 1,675,033.0 90,748.0 90,748.0| 216,617.2 216,617.2| 1,367,667.8 1,367,667.8
=1 Afasl
- 2RE 'I'éf)\'(»ﬁ@ SREST3T3A0»A ~ NBT»E3 Tx3AY»f 1,430,472.6 77,169.3 77,169.3| 169,518.4 169,518.4| 1,183,784.9 1,183,784.9
- Z303U36Q3T3Y, 1Y 3I3Y T AT 33Y 3 244,560.4 13,578.7 13,578.7 47,098.8 47,098.8 183,882.9 183,882.9
126310V»AC A=A 3 Th4
12e20asAlasuUCBE ©1 2a82UgU°sE 311,545.9 16,524.1 16,524.1 50,578.3 50,578.3 244,443.5 244,443.5
0ces” °3a6%
=1 Afasl
P3RAYST3T3Y IBEé»f 272,347.7 8,154.2 8,154.2 43,638.6 43,638.6 220,554.9 220,554.9
=1 Afasl
- UY»A -»'I'Q-l- 126345AIa5Y Y»ii 172,287.7 5,278.9 5,278.9 30,274.1 30,274.1 136,734.7 136,734.7
- TAUASY3E 126340AIa5Y Y»ii 5,529.7 319.2 319.2 1,192.0 1,192.0 4,018.5 4,018.5
- T3é’1(2 1263[40AIa0Y Y»i 89,477.8 1,644.1 1,644.1 9,312.0 9,312.0 78,521.7 78,521.7
- 283NAT3-A3T3Y I3Eé»i 2,712.0 912.0 912.0 520.0 520.0 1,280.0 1,280.0
- a0liC T eSAUS T anabUY»AC 13103 13tasAlasy 2,340.5 0.0 0.0 2,3405 2,3405 0.0 0.0
an1as0a0Y»AC ~ Ric= - SlasAlasYY»AC TSEe»n 7,016.6] 3,772.9 3,772.9 421.7 421.7 2,822.0 2,822.0
a303Y=3- A=CY 3k 1=363(a0AlasY Y»AC O»eup»iial 9,866.8] 2,050.0 2,050.0] 2,644.4 2,644.4 5,172.4 5172.4




0T¢

20la6e=T 03-03-01

1 2 4 6 7
T DSUS13n-231Y 1563 1a0AaIYY »h 4.676.8 30.0 30.0 910.0 910.0 3,736.8 3,736.8
- DO ISTT3T3Y 136340Ala5YY»A 1,526.6 441.0 441.0 0.0 0.0 1,085.6 1,085.6
- T3E63 T3 13Y 136340AlasYY»i 1,734.4 0.0 0.0 1,734.4 1,734.4 0.0 0.0
- U»AI32064068313Y 1=Eé»i 1,929.0 1,579.0 1,579.0 0.0 0.0 350.0 350.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 12020 0.0 0.0 0.0 00 12020 1,2020
31 Atadu
TP -G 3137 126310 Voh 1,202.0 0.0 0.0 0.0 0.0 1,202.0 1,202.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 15107 155.0 155.0 310.7 310.7 1,045.0 1,045.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 15107 155.0 155.0 310.7 310.7 1,045.0 1,045.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 19,602.1 2,392.0 2,392.0 3,562.9 3,562.9 13,647.2 13,647.2
31 Atadu
- AZe»YIRT3(CY YiaiA»n ~ N=- 46 11,562.1 301.8 301.8 2,236.2 2,236.2 9,024.1 9,024.1
- TH3YEAARW3ICY YlaiA»h 6,606.6 2,045.2 2,045.2 1,235.0 1,235.0 3,326.4 3,326.4
TT>63031CY ~ NSYRSICY 8YVAC VIAtA 1,101.4 450 450 917 91.7 964.7 964.7
TP AT YAS T ST3Y SE VIaoA h 332.0 0.0 0.0 0.0 0.0 332.0 332.0
ea0k=t=120 Ua=e10°8 ©1 1°U6=Aap=10°8 5,880.0 0.0 00| 44400 44400]  1,4400 1,440.0
31 Atadu
846CE=1=Y 0-VARA=Y 1n=U=12Y S n=R=ln aA=Up 5,880.0 0.0 00| 44400 4,440.0 1,440.0 1,440.0
Ya3ewY»i (uléoc»Co)
31 Atadu
“ZEVAZe 1 Von Habc-Co 5,880.0 0.0 00| 44400 4,440.0 1,440.0 1,440.0
2UE 12E6°8 2,5335 68.0 680[ 30638 306.8]  2,158.7 2,158.7
31 Atadu
D3AlI»A, &3AW31CA Tx3AY»A ~ waild»i, afayo 2,533.5 68.0 68.0 306.8 306.8 2,158.7 2,158.7

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p




T1¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 03

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=3T N 03-03-02

20la6e=T 03-03-02

SH AT AST 17= - fofiC

PP US40 CA= Ta5YUY»AC
A3RTASYC
SRESTIT3UC

P2YASICY &= a=YC
-A=e»YI=1¢ &=Na=Yail

L 3T ST3Ra0AEYY»ACY
AVL-ATT=T A - USYCAToiC,
+af0=-»Y»AC ~ TT3Y»AC

2y [ x3ay=Tah=Y
-ART»AAT T26= T2RACAY»ACY

ChnY6 U3 Tas6=1

1=é63a5AlAsYY»MiC 1¢U=6

o 302 ISy T b o R G
aSNa=3YU3Y I3Eé»i 131031 NajAladY  AEN= 1456450
AY13(»YA o o L R N F e 1 R 2ar| Asman
1=35C __3U1 Al aog Ae ] _?Ul Alaog Ae ] __3U1 Al aoL) Ae ] __3U1 Al aog Ae ]
PALT31C 3YT3VaiUA - 2U3RA - 13713Ra0Y»NC = 13713na0Y»NC - 13713/a0Y»AC - I13713na0Y»NC
(N3%=3 < < > < =
e g > ' >
wwevnnan | 1L o2 | & i3 g - g 0%
\— x> M A B L VIS A A
. S : =5
< :% > m o <C - @ <C — <C 8
3 T2a 3 b 3 0o 3 2
3 S i 3 a4 3 =l 3 "o
" 0SS m S " M ic " >
d ST d e d d 0 d £
< Loyl = R = o S Sl
< 50 < 0% < &% < 20
W > Ll >
M
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé°3s 126,004.5| 46,800.1 46,800.1| 75,454.4 75,454.4 1,550.0 1,550.0 2,200.0 2,200.0
31 Arasl
AUA20LT 12Eé°8 126,004.5| 46,800.1 46,800.1| 75,454.4 75,454.4 1,550.0 1,550.0 2,200.0 2,200.0
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 37,361.7| 37,361.7 37,361.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 37,361.7| 37,361.7 37,361.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRES WS T3A0» NS T»E3 Tx3AY»f 30,653.0| 30,653.0 30,653.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1330?9?6@3]'3Y, 13'|'3T?\'( EES S R 6,708.7| 6,708.7 6,708.7 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - 37 ad
T12&20a0AladuUUCBE @1 2482UgU°BE 10,164.7( 8,614.7 8,614.7 0.0 0.0 1,550.0 1,550.0 0.0 0.0
O?ép' <3209
31 Atadu
P3faiYST3T3Y ISEé»i 4,387.3| 4,387.3 4,387.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
- YY»fi-» W CT 13é3(a0AladYY»hi 1,820.1] 1,820.1 1,820.1 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&Y3t 1=3é63acAlasy Yo i 16.5 16.5 16.5 0.0 0.0 0.0 0.0 0.0 0.0
- T=2AC 1363(a0AlaiYY»hi 1,389.7] 1,389.7 1,389.7 0.0 0.0 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 450.0 450.0 450.0 0.0 0.0 0.0 0.0 0.0 0.0
- F&0loc  e3Au3 1anasUY»AC 1303 T3ta0AlasY 711.0 711.0 711.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 1,871.9] 1,871.9 1,871.9 0.0 0.0 0.0 0.0 0.0 0.0
a3U3Y3-A3(CY 3F 1363a0Ala0YY»AC O»élu»iiasy 2,224.1 674.1 674.1 0.0 0.0 1,550.0 1,550.0 0.0 0.0
31 Arasl




(474

20la5e=T 03-03-02

1 2 3 4 5 6 7 8 9
- PSS T3Y 1363(a0AlaiYY»h 1,500.0 0.0 0.0 0.0 0.0 1,500.0 1,500.0 0.0 0.0
TD3UST3R-33KY 1563laAaiv Y h 1235 1235 1235 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 193.2 193.2 193.2 0.0 0.0 0.0 0.0 0.0 0.0
- T2E3 353 13Y 1363(a0Ala5YY»Hh 50.0 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»f 270.0 270.0 270.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3Yan pYadlAC 3lE 13é3adAladYY»h 87.4 87.4 87.4 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vana-ail ~ B=Na=Yall (=& RoAG0TIoh - 4218| 4218 4218 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
OV STNG - B3RS TANA0UY»C AVASOCT Yana- &l 4218| 4218 4218 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,259.6| 1,259.6 1,259.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
T nSeYET3CY Vidhnn -~ N=-206 T 2151 2151 2151 0.0 0.0 0.0 0.0 0.0 0.0
TTnSYeRan 13Ky Viabhon 9292 9292 929.2 0.0 0.0 0.0 0.0 0.0 0.0
TT»>Y6=03ICY ~ NSYASKCY 8YYAC Viahnn 1153 11563 1153 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 793.1 793.1 793.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_PUSRYANNY >0 UG- 2I0Y T=/AU= ToBa0AG0Y V> ACY 7931 7931 793.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AVASGCT TR=U=RYARNY»1 UGe =% 31T 7931 7931 793.1 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&A0AIAGY Y »ACY
éx‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @1 I°eUé2Aab21uU°s 77,654.4 0.0 0.0| 75,454.4 75,454.4 0.0 0.0 2,200.0 2,200.0
31 Afadu
83602127 0-VAARY 10> 12 =1 =R=in aA=Up 77,6544 00 0.0] 75,4544 75,454 4 00 00| 22000 2,200.0
Ya3&wY»f (lase»Co)
31 Afadu
- 2 YAZ&TY»A pidic»Co 77,654.4 0.0 0.0| 75,454.4 75,454.4 0.0 0.0 2,200.0 2,200.0
20E 12E6°8 306 306 306 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
P3AlI»A, é?ﬁf|'31(;ﬁ I'X?ﬁY»ﬁ ” 'I'éﬁﬂ,&))ﬁ, éf]{?lYU ) 30.6 30.6 30.6 0.0 0.0 0.0 0.0 0.0 0.0
I36373UY W3 UST3R13TY»AC Ta0UC6 TCA=¢ T4l
»Y UCUBY6 YI=3T1U3Up




€T1¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 04

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

Sh AT AST 1A= - fofiC

Pb 1= =E3Y40AI=Y
a=la=vail

= ATasl Aew

AVIZU»YA - TST3A40V»AC
U I 2 =
Pa1T30C 3VT=3VasUA - 86U=fiA 0 =z
(=s=n £ 2
ASUY»AAT) - Ry
N M
S W
J i
< Q
a
1 2 3
AU _2@°UA 12E&°5 626,475.2| 626,475.2 626,475.2
31 ATasU
AUA20KAT 12EE°8 626,475.2| 626,475.2 626,475.2
3 Afasu
2pE=T2Ugk 12802T620A0a0U 541,187.4| 541,187.4 541,187.4
3 Afasu
L ASUAT Tx311a0 SREST3T30» 7 NS T3 1x30V»i 541,187.4| 541,187.4 541,187.4
3 ATasu
- 2RE3TA0V»AC SRES T3 T3A0»A ~ NS T»E2 Tx3AV»f 519,372.9| 519,372.9 519,372.9
- 22020260212V, 13313V 7 & w=13Y 3 21,8145 21,8145 21,814.5
363040Y»AC &3 - 3Rl
1282020A0a000°8 ©1 2482UgU°8k 85,050.2| 85,050.2 85,050.2
0ceg” ©da6%
31 ATasu
P37iaY=T=T3Y ISEeéxf 62,967.0 62,967.0 62,967.0
3 ATasu
- %Y»A-» 1T 1263aAlasy V»ii 451729 45172.9 45,172.9
- TaU&Y3E 1363la0Ala0YY»h 1,068.8] 1,068.8 1,068.8
- T3¢ 1363[aAavY»h 13,085.3| 13,085.3 13,085.3
- 2330ar=-A3T3Y IBEéx»i 3,640.0] 3,640.0 3,640.0
TanTas0asUv»AC ~ BAcS - SlacAlasYY»AC TSEé»h 832.9 832.9 832.9
&a3lU=y=-73CY SE 13¢63aiAl0YY»fC 0»éup»iiadl 6,000.9] 6,009.9 6,009.9
31 Afasu
- 133 13Y 1363[a0AlaYV»h 300.0 300.0 300.0
- D3U3T30-53CY 1363a0AlasYY»h 3,980.0] 3,980.0 3,980.0
- DO IBTISI3Y 1263aAlasYY»h 709.9 709.9 709.9

P31»tT31 N 5 - | »é308(3T

200a56=T N 03-04-01

20la6e=T 03-04-01
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1 2 3

- U»AT32064605313Y 1SEéxf 800.0 800.0 800.0
- AYIN3YAGA pYailAC 3 1=3é63a0Ala0Y Y»ii 220.0 220.0 220.0
AYA:?'OCI Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 3,235.9 3,235.9 3,235.9
YlaoA»fi)

31 Afadu

- D»U»Y3Y»AC " 63A0S TanasUY»AC AYAS6CT Yana-aiu 3,235.9 3,235.9 3,235.9
a=Na=vail

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 12,004.5( 12,004.5 12,004.5
31 Afadu

- A=6»YIST3(CY YiaiA»h ™ N=- 406 1,275.8 1,275.8 1,275.8
- TASYEAAA I 3ICY YIaiA»h 10,617.8( 10,617.8 10,617.8
- T»Y6303(CY " NBYASICY &YY1C YaiA»fi 110.9 110.9 110.9
2UE ~‘| ZEéOB 237.6 237.6 237.6
31 Afadu

P3fil»f, A3 W 31CA 1x3iAY»i ~ wWailA»i, afayo 237.6 237.6 237.6

12637302 T3P USTSAISTY»AC TA0UC6 TCR=6T400

»Y UGUI=Y6 YT=rU=0p

20la6e=T 03-04-01



ST1¢

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 05

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

S ATa00 AST T7=-fofiG

pi»3T3T31a03T3Y
N=U=T=0-¢ &a={a=vaiU

=1 ATl Asr

=1 Afadu

AVIZU»YA - TS 3A40V»AC
o 1360 pE
PALT3IC 3V T3YaUA - 40US7iA ; Fe
s & <3
ASUY»Aar) :;;_ m_ E
3 =4
< )
7
1 2 3
AU_=0°UA 1°E6°5 1,588,997.6] 1,588,097.6 1,583,997.6
s ATail
AUA=GAT 12E6°5 1,588,997.6| 1,588,997.6 1,583,997.6
3 Afail
2PE>T2Upk 120> 1620AU0U 1,128,339.5| 1,128,339.5 1,128.3395
3 Afasl
_TPUAT TX3140 SRES 12120000~ N2 1ok TX3Yoh 1,128,339.5| 1,128,3395 1,128,339.5
3 Afail
“ZRESTA0Y>MC SRESTS 13000~ NS 1562 [x3AV>n 1,109,580.4| 1,109,580.4 1,109,580.4
o A o AW B 187591  18,759.1 18,759.1
3631a0V»AC &3 - 314l
T12820R0AURUUCBE ©1 2a5=UpUcsk 439,990.6| 439,990.6 439,990.6
0°es” ©3a00
3 ATasl
PRV 15T3Y [SEen 202,404.8| 202,404 8 202,404.8
3 Afasl
IR N CT 1363 I0NE Vo 182,431.8| 1824318 182,4318
P E S EFE P Eaass 8,758.9 8,758.9 8,758.9
TTSAC 1S6SERavTYoh 6.143.1 6.143.1 6,143.1
2ESNaTS noTSY 1SEenh 35200 35200 3,520.0
TqAIC - E3NUS TANGIUTNG T3M0S T SEANEDY 1,551.0 1,551.0 1,551.0
TARTA0&I0Y-C ~ Ric= - SIROARIVY»AC 1SEenh 42191 42191 4,219.1
A3V M2l S 1262TRAAN TG O»6UH»TAcl 2088 208.8 208.8
3 Afasl
ASraS TSV 1S6SRNaTYoh 2088 208.8 208.8
SEUSE73 Cr STV 1563 RRAVoNC Onetonail 1806 180.6 180.6

200a56=3T N 03-05-01

20la6e=T 03-05-01



91¢

1 2 3
CO=eV= - T 313 1363 GAaY Yoh 1806 1806 1806
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 8928 892.8 892.8
YlaoA»fi)
31 Atadu
DUV 3Y»RG  63AUS1aRa0UY»AC AYASOCT Yana-ail - 892.8 892.8 892.8
asNa=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 232,084.5 232,084.5 232,084.5
31 Atadu
“NASEVIBT3CY VidoAnn NS -&06 1 10,1788| 10,1788 10,1788
TARSYERAN T 3CY VIAA N 214572| 2L,457.2 21,457.2
TT-Y63030CY ~ NSYASICY 8YYAC Yiaohnh 200,4485| 2004485 200,448.5
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 17,8850  17,885.0 17,885.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 17,8850| 17,8850 17,885.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 17,8850| 17,8850 17,885.0
2UE ~‘| ZEéoé 2,782.5 2,782.5 2,782.5
31 Atadu
D3>, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, éﬁéYU ) 2,407.5 2,407.5 2,407.5
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 375.0 375.0 375.0

20la6e=T 03-05-01



LT¢

8§32 T3VC DBYASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dsc»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Eex»AC -af136Y2T3Y 1263137 U=Y 03 u=AYC 07

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=3T N 03-07-01

31 ATa00 Aéw TA= - fAnfAiC
PP UYY&3T3Y TaUCw»C PP N3 asl uyvasT3yY
a=la=val 1=363(a5A=Y a3Na=3vaiU
N 31 AT4U Aér 3 Atas0 Aew
AYIZU»YA - T2 3Ra0V»AC - T3 T3/a0Y»AC
o =66 e pe
PALT=C 3YT=YaiUA - 400=1A K K
(= k= ¥ = =5
1A3UY»Aar) < :0')_ A > S 6‘ R
3 0.5 3 o
n 53 0 =24
X 3 % 851
1 2 3 4 5
AU_2g°UA 12E6°5 1,085,642.4] 966,431.8 966,431.8| 119,210.6 119,210.6
=1 Afas0
AUAZOET 12E&°5 1,085,642.4] 966,431.8 966,431.8| 119,210.6 119,210.6
=1 Afas0
2pE2T2Ugk 1200210a0A0a5U0 941,024.4| 833,001.1 833,001.1] 108,023.3 108,023.3
=1 Afas0
2041 X310 SRES 1120000 NS >3 1X3AV»h 941,024.4| 833,001.1 833,001.1] 108,023.3 108,023.3
=1 Afasl
“2RESTA0V»AC SRES NS T2A00N -~ N2 T»E= [xSAY»h 895,396.4| 811,367.4 811,367.4] 84,029.0 84,029.0
- g30=30=003T3Y, 131313 -~ & 1S13Y SE 45,6280| 21,633.7 21,633.7| 23,9943 23,994.3
1=6=2(40V»AC A=A~ =140
1282026A0a50U°8K ©1 2a02UgU°0k 112,705.8| 102,947.3 102,947.3] 9,7585 9,7585
0°es” ©5260
=1 Afas0
PSRaVST213Y 1SEe»n 77,239.7| 71,390.7 71,390.7|  5,849.0 5,849.0
=1 Afas0
I -»> WGl 1=262A0Aa0Y Vi 53,301.8| 49,373.1 493731 3,928.7 3,028.7
- TaUa0Y =t 1=6=1a0AIa07 Voh 596.1 510.4 510.4 85.7 85.7
“1=8C 1=26=la0Aa0y Y>h 20,026.8| 18,347.2 18,347.2| 1,679.6 1,679.6
A ER S DA 3,315.0|  3,160.0 3,160.0 155.0 155.0
Man1460&00Y»NC ~ Bric= - SAOAAIVY»AC 1SEe»n 3,865.2| 3,613.2 3,613.2 252.0 252.0
a3lU3Y=2 A=Y SE 126=1a0AE0Y Y>AC 0»&0p»Na0U 10,709.8| 9,821.3 9,821.3 888.5 888.5
=1 Afas0
1SS 13Y 1263la0Na0Y Yo i 6,450.0|  6,050.0 6,050.0 400.0 400.0
“D=US120-4210Y 1=26=a0KaE0YY > 823.5 7635 763.5 60.0 60.0
OIS T 1312 12621a0KAE0Y Y1 1,626.3| 1,507.8 1,507.8 1185 1185

20la6e=T 03-07-01
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1 2 3 4
- T3éE3T3ME313Y 1363a0AladYY»A 380.0 350.0 350.0 30.0 30.0
- U»AT3[36400431T3Y 13Eé»i 1,050.0 800.0 800.0 250.0 250.0
T AVINSY &0 QYalAC SE 1363 R0Aa6Y Yo 380.0 350.0 350.0 300 30.0
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 2089] 2000 200.0 8.9 8.9
31 Atadu
TO3EVE - 313 1363 AAaYoh 208.9 200.0 200.0 8.9 8.9
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 3.1756| 3,000.0 3,000.0 1756 1756
YiaoA»h)
31 Atadu
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail - 3.1756| 3,000.0 3,000.0 1756 1756
asNasvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 17,506.6 14,922.1 14,922.1 2,584.5 2,584.5
31 Atadu
“NASEVIBT3CY VidoAnn NS -&06 1 56751| 5,091 5,100.1 566.0 566.0
TARSYeRAN T 3CY VIAA N 10,8931 9,0631 9,063.1] 1,830.0 1,830.0
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 454.9 304.9 304.9 150.0 150.0
TPITAT YASTII3KY 3L Viaoh»n 4835 445.0 445.0 385 385
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 31,3221 29,9541 20,9541 1,368 1,368.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 31,3221 29,9541 29.954.1| 1,368.0 1,368.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 31,3221 29,9541 29,9541  1,368.0 1,368.0
2UE ~‘| ZEéoé 590.1 529.3 529.3 60.8 60.8
31 Atadu
D3lI»A, &3AW31CA Tx3AY»A ~ waild»i, afayo 590.1 529.3 529.3 60.8 60.8

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p

20la6e=T 03-07-01
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8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dsc»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Ee»AC -aR136Y2T3Y 1263137 -U3Y 04 u=AYC 01

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=T N 04-01-01

20la6e=T 04-01-01

=1 A1a80 A6 1A= - inAC
anT=31Ci CRE3VYaiAlRY,
anT=31Ci CRE3VYaiAl=RY, AT 3T3Y 136313003y
AT3I3Y T3é63 13003y N3YAS&»TIT3Y 2 r=363NU3Y45U 3¢ TASCY
NSYAZ&»T3T3Y T3AZIU3CY T263T3003Y Y»AT3(36406480A140Y Y »AC
TSRS U3CY 13¢3T3A03Y U=AlCYY»fic &=Na=vail a=Na=vai
U3AUCYY»AC a3Na=3YaiU (YSE=3fA3nasAlasYY»ic
AVI3(»YA SRESTST3W»AC U384T)
1=eC — — —
Pa1i=1C 3Yi3YaiUA - a6U3RA =t AT AeT S ATaiU AeT S ATail A
(N=%=n \— 13713na0Y»AC \— 13713na0Y»NC \— 13713na0Y»NC
1ABUY»RAT) 2 2 b
=% > = >, &
\lmE :m_ i i% > ;g \lmE :m_ >_ %;g{ \lmE :m_ >_ %,g
s | §33Es | = 825 = 825
= falel 0 n 0 = 2 },? &0 > 2 b? g M
) == ol = > ) = e e ) = U e
o ?'f"’o:-ag o e o Pl =]
P SEFTO < SLau Z SLY
8 @ = 8772 RSN
1 2 3 4 5 6 7
AU _2@°UA 12Eé&°3s 610,045.8| 57,070.8 57,070.8 153,654.2 153,654.2 39,154.1 39,154.1
=1 ATasU
AUAZ20LT I12Eé°d 610,045.8| 57,070.8 57,070.8 153,654.2 153,654.2 39,154.1 39,154.1
=1 ATaiU
2pE2T2Ugk 12802Tda0AlacU 223,586.1| 52,005.2 52,005.2 142,167.3 142,167.3 0.0 0.0
=1 AaiU
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 223,586.1| 52,005.2 52,005.2 142,167.3 142,167.3 0.0 0.0
S YEL
- 2RE3TA0Y»AC SRES WS T3A0»1 NS T»E3 Tx3AY»f 180,667.2| 44,607.5 44,607.5 110,862.5 110,862.5 0.0 0.0
- 2303036C313Y, 137 313Y " T 3I3Y 3¢ 42,9189 7,397.7 7,397.7 31,304.8 31,304.8 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
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- T»Y6=203(CY " NBYASICY 8YY1C YiaiAni 9.0 9.0
- D3TAT YA3ST3I3(CY 3[ YiaiA»i 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0
31 Afadu
€aipec1IC=Y»h U 31I3Y 133 T»RA40AIA0YY»ACY 0.0 0.0
31 Afadu
_-_éé\fgpéngE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0
I3%=T»A&40AIATY Y »ACY
362~®2P0369006 0.0 0.0
31 Afadu
AY_A_36Q-I. f—_ﬁ3U?BYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAZOCT 1A3U3RYAANY» 0.0 0.0
(¢ 12E6°5 00 00
31 Afadu
D3>, é’l?ﬁjl'31(lﬁ I'X?ﬁY»ﬁ . 'I'él’f)UA»ﬁ, éﬁéYU ‘ 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Un
2 ISEé»f 0.0 0.0
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S ATl ASH T7=-fofiG

MaRT=1CA CRE=YasAi=Y,
T4 T=31CA CRE=YAsAISY, A>T 3T3Y T26373003Y A g o
& SISy Tsesisilsy | fiisaywsrsy - wsnsiysicy [ NN 8210 CHe-0=Y - &ole»ic
NSVAZ8» =3T3y~ | T363T3A03Y USAUCYY»AC AT ATGBATUSY AR T ASVAABY
TSASBCY 126373703y a=fa=vau ea’gj' éc;)ggmg - UCCa6=2645UY»f
USAUCYY»AC &a3Na=Vail (V3ESA=a A I»AC Ge ouY>
AVI3(»YA SRESTST3W»AC U384T)
135¢
PALTZIC 3YT3Y45UA . &U=RA 3 ATaoU Aew 3 Ataol Aer 3 ATaoU Aer 3 ATaoU Aer
== - T=W3ha0V»AC - T=T=2040Y»AC - =1 2R80Y»AC w | 1=r=hadvsic
1ASUY»RAT) 2 5 2 5 2 5 2 5
> > > > >
a <ol o a < 3 a <3 a < 3
= i< 2> g = i = B = i
< o gsen 3 < D < D g < D
kN .2 i 1% o :m— ’:E RN .2 i R .2 i R .2 i
7 |BSEvicg| @ 828 7 828 7 | B8:it
g roscar| 2 4 g oo L 4
< S e = < St < St < St
g> 0 &> &> 8>
1 2 3 2 5 6 7 8 9
AU_20°UA 12E6°6 4,058,255.7| 179,210.2 179,210.2 97,176.2 97,176.2| 17,5323 7,532.3| 11,173.8 11,1738
3 A4l
AUAZ0ET 12E6°5 2,270,028.3| 179,210.2 179,210.2 97,176.2 97,176.2| 17,5323 7,532.3| 11,1738 11,1738
3 A4l
2pE=71200k 1280210a0A0a00 259,496.8| 170,205.9 170,205.9 89,290.9 89,290.9 0.0 0.0 0.0 0.0
3 A4l
_A=UaT 1x2n1a0 SRES TS 120000 N2 1562 [x31T»h 259,496.8| 170,205.9 170,205.9 89,290.9 89,290.9 0.0 0.0 0.0 0.0
3 A4l
“2RESTA0V»AC SRES NS T2A00N -~ N2 T»E= IxSAY»h 202,702.5| 133,555.6 133,555.6 69,146.9 69,146.9 0.0 0.0 0.0 0.0
- 630302003 T3Y, 131313 -~ & 1 S13Y SE 56,794.3| 36,650.3 36,650.3 20,144.0 20,144.0 0.0 0.0 0.0 0.0
1=6=2(40V»AC A=A =140
1262020A02000°8L ©1 2a520sU°8k 210,596.9| 8,9135 8,013.5 7,816.2 7,816.2 0.0 0.0 11,173.8 11,1738
0°es” ©5260
=1 Afas0
PSRAN = 1=13Y SEé»n 11,249.7| 5,755.2 5,755.2 5,494.5 54945 0.0 0.0 0.0 0.0
3 A4l
TI>f-»> WGl 1=263A0Aa0Y Vi 7,556.5|  3,309.6 3,309.6 4,246.9 4,246.9 0.0 0.0 0.0 0.0
- TaUa0Y =t 1=6=1a0AIa07 Voh 36.0 0.0 0.0 36.0 36.0 0.0 0.0 0.0 0.0
“T=3C 1=26=laAa0y Y»h 2,595.2| 1,665.6 1,665.6 929.6 929.6 0.0 0.0 0.0 0.0
e A ER S DA 840.0 600.0 600.0 240.0 240.0 0.0 0.0 0.0 0.0
- qA0INC ~ E3AUSTaNAUY>AC 13101 StaoAl&0Y 222.0 180.0 180.0 42.0 42.0 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 1,354.8 636.3 636.3 718.5 718.5 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 801.3 416.6 416.6 384.7 384.7 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 261.0 47.0 47.0 214.0 214.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 450.8 330.1 330.1 120.7 120.7 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 30.0 30.0 30.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 59.5 9.5 9.5 50.0 50.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 22.0 0.0 0.0 22.0 22.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 22.0 0.0 0.0 22.0 22.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 621.6 503.7 503.7 117.9 117.9 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 621.6 503.7 503.7 117.9 117.9 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 196,547.5 1,601.7 1,601.7 1,078.6 1,078.6 0.0 0.0 11,173.8 11,173.8
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 388.6 215.6 215.6 173.0 173.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 1,998.9 1,354.8 1,354.8 644.1 644.1 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 182,693.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 47.8 313 31.3 16.5 16.5 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 11,418.8 0.0 0.0 245.0 245.0 0.0 0.0 11,173.8 11,173.8
eao” é/E‘b/EZUc’é 993,702.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 993,702.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 761,100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 232,602.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 246,666.9 0.0 0.0 0.0 0.0 7,532.3 7,5632.3 0.0 0.0
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 246,666.9 0.0 0.0 0.0 0.0l 7,532.3 7,532.3 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 189,009.1 0.0 0.0 0.0 0.0l 7,532.3 7,532.3 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 57,657.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
ZQE ~‘I ZEéOB 559,565.0 90.8 90.8 69.1 69.1 0.0 0.0 0.0 0.0
31 Afadu
P3fl»f, &3 31CA 1x3AY»i ~ wWailA»i, afayu 159.9 90.8 90.8 69.1 69.1 0.0 0.0 0.0 0.0
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1 7

2E1=Ee»h 559,405.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U=082T20 ZTTE1U°3E T1a1 126695 1,788,227.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Ai4o0

pEDUZT120 Pk2a0U°8 1,788,227.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol

poUg°8 ©1 PEU&6AUaU0°5 1,563,626.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol

- P>YUnAC  BCYAOAAIYY»1C BCYSn=nasA&0y 1,563,626.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 625021a0a0U°8 44,0505 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol

- TA=VEAAN T =I0Y 6202 14na00Y»h 7,460.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2EU»>Y3Y»R - 63A0S1aRa00Y > 36,590.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEQUZ120 0E=a00°5 180,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol

- USES 131 =71 3137 [SEeh 180,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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2 32 | 2 32 | = 32 = 32
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8> 8> > >

10 11 12 13 14 15 16 17
AU b~2®?UA 12Eé°5 10,580.6 10,580.6| 277,623.3 277,623.3| 57,657.8 57,657.8 20,735.1 20,735.1
31 ATadU
AQAZGE 1 12Eé°0 10,580.6 10,580.6| 277,623.3 277,623.3| 57,657.8 57,657.8 20,735.1 20,735.1
31 ATadU
ZPI§~2'|‘?UQE 12802T8a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadU
. ﬁ3~Ué|' ‘|'><3ﬁ 7140 SREST3T3A0»A " NBT»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadU
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 63030260313, 137313V~ & =13Y 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
?ZéZUéﬁAUéﬁUUoé/E o7 2a462UgU°sE 0.0 0.0 182,693.4 182,693.4 0.0 0.0 0.0 0.0
0°eg” 26a00
31 ATadU
b?ﬁf’lﬁ\'{?'l'?"lé\'( 13Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadU
- WY»h >0 Gl 1363aAlary V»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363aAlasyYri 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2A3NaAT3-(B13Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- q1a0liC T ESAUSTanatUY»AC 13n0=13tasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0| 182,693.4 182,693.4 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0| 182,693.4 182,693.4 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
. 6%@290369006 10,580.6 10,580.6 94,929.9 94,929.9| 57,657.8 57,657.8 20,735.1 20,735.1
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 10,580.6 10,580.6 94,929.9 94,929.9| 57,657.8 57,657.8 20,735.1 20,735.1
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 10,580.6 10,580.6 94,929.9 94,929.9 0.0 0.0 20,735.1 20,735.1
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0| 57,657.8 57,657.8 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
P3fl»f, &3 31CA 1x3AY»i ~ wWailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2637302 T3P USTSA1STY»AC TA0UC6 TCR=6T400
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10 11 12 13 14 15 16 17
2E1=Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U=082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Ai4o0
pEDUZT120 Pk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
poUg°8 ©1 PEU&6AUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- P>YUnAC  BCYAOAAIYY»1C BCYSn=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 625021a0a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- TA=VEAAN T =I0Y 6202 14na00Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2EU»>Y3Y»R - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEQUZ120 0E=a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES 131 =71 3137 [SEeh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20E 12Eé°s 493,087.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




95¢

20la5e=T 04-05-01

1 9 10 11
2 1=E6»0 493,087.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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= A7 400
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= A7 400
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20E pEPUZ120 0E2a00°5 95,1406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

CUSE=- 12 1 S/AaT S13Y 12E6» 95,1406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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2a 02082120 ZTTA1UCSE T1a1 126695 0.0 0.0| 94,0048 94,0048 265,236.4 265,236.4| 35339.4 35,339.4
= A7 400

pEDUZT120 Pk2a0U°8 0.0 0.0| 94,0048 94,0048 265,236.4 265,236.4| 35339.4 35,339.4
= A7 400
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= A7 400

~ P»YU»AC ~ RCVABAIADYY»1C RCY SH=natAiasy 0.0 0.0 0.0 0.0| 265236.4 265,236.4| 35,197.0 35,197.0
~P»YU»iC ~ RCYASABIYY»AC TSACT 3E T»ASYana - aiU 0.0 0.0| 70,560.3 70,560.3 0.0 0.0 0.0 0.0
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“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0| 6,273.0 6,273.0 0.0 0.0 0.0 0.0
20E pEPUZ120 0E2a00°5 0.0 0.0| 16,7283 16,728.3 0.0 0.0 0.0 0.0
= A7 400

CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0| 16,7283 16,728.3 0.0 0.0 0.0 0.0
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1 2 4 6 7
a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 83.0 83.0 83.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 18.0 18.0 18.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 20.0 20.0 20.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 30.0 30.0 30.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 15.0 15.0 15.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 165.2 165.2 165.2 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»Ac AYAS6CT Yana- aiu 165.2 165.2 165.2 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 582.1 582.1 582.1 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YaiA»h ™ N3 - 46w 207.2 207.2 207.2 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 367.4 367.4 367.4 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 7.5 7.5 7.5 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 154,808.1 32.2 32.2 39,056.9 39,056.9| 92,509.2 92,509.2
31 Afadu
P3l»f, é’l?ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 32.2 32.2 32.2 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 154,775.9 0.0 0.0 39,056.9 39,056.9| 92,509.2 92,509.2
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 1,573,808.0 0.0 0.0 256,242.8 256,242.8| 224,780.9 224,780.9
31 Afadu
D{EQL"JZ?ZU PExAOUCS 1,573,808.0 0.0 0.0 256,242.8 256,242.8| 224,780.9 224,780.9
31 Afadu
D?U~Z°§ 1 bEUaAUauUCS 1,354,353.3 0.0 0.0 256,242.8 256,242.8| 190,563.1 190,563.1
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 1,037,389.7 0.0 0.0 256,242.8 256,242.8| 190,563.1 190,563.1
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 316,963.6 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?U?UOB °i é28g2i1a6a0gu°s 137,214.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiUY»h 137,214.7 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQUZTZU PExea0U°S 82,240.0 0.0 0.0 0.0 0.0| 34,217.8 34,217.8
31 Afadu
- USE3- I3 T3 r313Y I3Eéx»i 82,240.0 0.0 0.0 0.0 0.0 34,217.8 34,217.8
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AU _2@°UA 12Eé°s 272,454.6 272,454.6 72,311.7 72,311.7 122,398.1 122,398.1
=1 ATaiU
AUA20LT 12Eé°8 0.0 0.0 12,926.0 12,926.0 0.0 0.0
SR YEL
2pE=T120pk 1260216a0A0a00 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
_A=UAT Tx=2NT40 SRES W2 12000~ NS 103 xS0V 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
T2RESTA0Y»AC SRES WS 1200~ N2 103 1 xSV 0.0 0.0 0.0 0.0 0.0 0.0
30303603 13Y, 1B T 313V - Br 1313V 3¢ 0.0 0.0 0.0 0.0 0.0 0.0
13631a0Y»AC A=A -3 TR&U
1282020AUa00U°SE ©1 2a62UgU°0k 0.0 0.0 0.0 0.0 0.0 0.0
O°Peg” @oadd
SR YEL
PSRAV=T=T3Y 1SEé»h 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
%>R - > 1 CT 1263a0AE0Y Yo h 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1=3é3acAlasy Yo 0.0 0.0 0.0 0.0 0.0 0.0
“T1=AC 12631a0Aa0Y VA 0.0 0.0 0.0 0.0 0.0 0.0
T 283Na1=- =12 1SR 0.0 0.0 0.0 0.0 0.0 0.0
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8 10 11 12 13
a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»Ac AYAS6CT Yana- aiu 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 0.0 0.0 12,926.0 12,926.0 0.0 0.0
31 Afadu
P3l»f, é’l?ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 12,926.0 12,926.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 272,454.6 272,454.6 59,385.7 59,385.7 122,398.1 122,398.1
31 Afadu
D{EQL"JZ?ZU PExAOUCS 272,454.6 272,454.6 59,385.7 59,385.7 122,398.1 122,398.1
31 Afadu
D?U~Z°§ 1 bEUaAUauUCS 205,715.7 205,715.7 37,586.7 37,586.7 73,661.2 73,661.2
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 0.0 0.0 0.0 0.0 0.0 0.0
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 205,715.7 205,715.7 37,586.7 37,586.7 73,661.2 73,661.2
@?Z?U?UOB °i é28g2i1a6a0gu°s 66,738.9 66,738.9 21,738.9 21,738.9 48,736.9 48,736.9
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiUY»h 66,738.9 66,738.9 21,738.9 21,738.9 48,736.9 48,736.9
2UE P/EQUZTZU PExea0U°S 0.0 0.0 60.1 60.1 0.0 0.0
31 Afadu
- USE3- I3 T3 r313Y I3Eéx»i 0.0 0.0 60.1 60.1 0.0 0.0
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SR YEL
2pE2T2Ugk 12802Tda0AUacU 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
- 2RE3TA0V»NC SRESTST3A0A ~ NS 1»E3 1x3AY»i 0.0 0.0 0.0 0.0 0.0 0.0
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0°eg” ©daid
SR YEL
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SR YEL
S WY»n-» 1 Cl 1263asAlasy V»h 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&Y3t 12¢3(a0AI40Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0
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14 15 16 17 18 19
a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»Ac AYAS6CT Yana- aiu 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 10,283.8 10,283.8 0.0 0.0 0.0 0.0
31 Afadu
P3l»f, é’l?ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 10,283.8 10,283.8 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 47,962.1 47,962.1 108,182.9 108,182.9| 107,212.9 107,212.9
31 Afadu
D{EQL"JZ?ZU PExAOUCS 47,962.1 47,962.1 108,182.9 108,182.9| 107,212.9 107,212.9
31 Afadu
D?U~Z°§ 1 bEUaAUauUCS 0.0 0.0 108,182.9 108,182.9| 107,212.9 107,212.9
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 0.0 0.0 108,182.9 108,182.9| 107,212.9 107,212.9
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?U?UOB °i é28g2i1a6a0gu°s 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiUY»h 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQUZTZU PExea0U°S 47,962.1 47,962.1 0.0 0.0 0.0 0.0
31 Afadu
- USE3- I3 T3 r313Y I3Eéx»i 47,962.1 47,962.1 0.0 0.0 0.0 0.0
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SR YEL
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31 ATadU
- D3UBT3n-33ICY 13¢3(a0AlA0YY»h 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 0.0 0.0
- U»AI3204068313Y 12Eé»i 0.0 0.0
- AYIN=YaiR uYadlAC 3k 1=2¢3asAlasYY»h 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vaol (1363la0AlasYY»h 0.0 0.0
YiaoA»h)
31 ATadU
- D»U»Y3Y»AC ~ 6303 TanaUY»AC AYA=0CT Yafia-aiu 0.0 0.0
a=la=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 ATadU
- AZE»YIRT3(CY YiaiA»n " N=- 46 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 0.0 0.0
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31 ATadU
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31 ATadU
Dc"U}ZlO(j °7 pEUasAVasuUCH 375,188.0 375,188.0
31 ATadU
- P»YO»AC ** BCYASAIAIYY»AC RCYSASRatAlA0Y 375,188.0 375,188.0
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 0.0 0.0
@?Z?U?UOB o7 é23g21adaigued 0.0 0.0
31 ATadU
- 2 U»UnY3Y»fi - 63A03 TanaiuY»h 0.0 0.0
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31 ATadU
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TP & YAS T ST3Y SE ViaoAnh 27,0005 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 276,982.2 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 276,982.2 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 246,464.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 21,862.7 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 8,655.5 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 14682| 14682 1,468.2 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 1,468.2| 1,468.2 1,468.2 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 1,468.2| 1,468.2 1,468.2 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 203,778.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 113,1345 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 90,644.3 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 665,984.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 665,984.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 664,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 564,000.0 0.0 0.0 0.0 0.0 0.0 0.0




qce

20lase=T 07-06-01

1 7
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 808.1 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 808.1 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 1,176.3 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 1,176.3 0.0 0.0 0.0 0.0 0.0 0.0




9ce

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 07 p=AYC 06

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 07-06-01

S ATa0l AS T 1A= - fofiG

2¢a0¢=a=N=T=3Y

OubTHY»AC
RCY=ii=nacAlasy

LETSIRTETSY ¢
-»Y» W CT 12¢340Ala6YY»h

a=A=y=ralcsT3yY
1=é63[a5AaGYY»h

p3RU=3Y1=3(
T3ACUSTARA »A»E3Y»ACY
ORAA» Y »RAT
Tane»rY»har
=333Mail=y
13é3(asAlasYY»ii

Pa1T=1¢ =YT=VaslA

2 Afal AeT
T=T2R80V»AC

22 Afal A6
T=21=20a0Y»AC

22 Al A6
T=212ha0Y»AC

2 Afal A6
T=212/a0Y»AC

@ @ @ @

< T o oA < N < N < N

0 - 0 = 0 = 0 =

= 2 25 | = %3 = 23 = 23

< SESS < 23 < 23 < S8

A ) zi O A 0] i 2 U] i 2 U] i

= - e~ Bag = Bag = Bag

0] R " 0] i U] i U] i

d @M P d N d 0o d 0o

> (] H > U':Lu > U":Lu > U":Lu

< L o= < o < o < M

8 = e 0 e

8 9 10 11 12 13 14 15
AU _2@°UA 12E&°s 524,000.0 524,000.0] 64,917.3 64,917.3] 8,857.8 8,857.8] 13,6352 13,635.2
=1 ATasu
AUAZOAT 12E&°5 0.0 0.0] 64,917.3 64,917.3] 8,857.8 8,857.8| 13,6352 13,635.2
SR YEL
2pE2T20pk 125802T820A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
_A3UAT 1x3A140 SRESTST310»A ~ N2 1»E2 1x3AV»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AaiU
- 2REZTA0V»AC SRESTIT310» - N3 1262 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1282020A0a00U°3K ©1 2a62UgU°8K 0.0 0.0] 64,917.3 64,917.3] 8,857.8 8,857.8| 13,6352 13,635.2
0ceg” ©5a60
SR YEL
P14y =T=13Y 1=Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 AT40U
- %>R -»>TCT 1263{a0Ala0YY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T340 1363[a0Ala0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233ai=-A=13Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MaRT250400Y»AG ~ Bic= - SlabAlAYY»AG TSEeéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a30=v= A=Y = 1=6=a0Ala0VV»AC O»étp»fiadl 0.0 0.0] 64,917.3 64,917.3] 8,857.8 8,857.8| 13,6352 13,635.2
3 AT40U
- D3U3T3A-a3GY 1=630a0Ak6YV»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IS TT313Y 1263a0AlA6YY»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




12€

20lase=T 07-06-01

8 9 10 11 12 13 14 15
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 00| 64917.3 64,917.3| 8,857.8 8,857.8| 13,6352 13,635.2
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 524,000.0 524,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 524,000.0 524,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 524,000.0 524,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 524,000.0 524,000.0 0.0 0.0 0.0 0.0 0.0 0.0




8c¢e

20lase=T 07-06-01

10 11 12 13 14 15
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT pidicr T =3CY TSE»AC - 4f1=26Y=T3Y 1363T3/-U=Y 07 p=AYC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 07-06-01

Pa1T=1¢ =YT=VaslA

SH AT AGT 17 - fofiC

2640c 3 &ME3T»AAC
EASYUSY * RSVASiCY
CASY»TU3Y
1=¢3aAlacyY Y»h

~ART=T=Y 0-Yashl=y
Usey=-Crs13y,
EafNAr3isT3Y -
T3S T»RA3U»Aa13T3Y
3¢31640ARBY 1=63{a0Ala6YY»h

F2L2ECASTY - YasAi=2Y
TSA-4T 6026740 T»0»iC
1502 - 4ATST2Y SATS1ASVC
3003V, UBue3hilu3y
U3BEU3Y 1363a0AlasYY»i

Tadu»fiTasta%c 1»U
ASWSAC 34- 30V
in=-A¢ N=03T=3h-U3Y
1=¢63(a0AlasY Y »fi

2 Afal AST
T=212Ra0Y»AC

21 Afaol A6
T=21=20a0Y»AC

21 Afal A6
T=21=2040Y»AC

21 Afal A6
T=r2/a0V»AC

\@© \@© \@© \@©
bl c ey e
. > . > . > . >
0 = 0 = 0 = 0 =
iz 23 Z %3 iz %3 Z %3
< \@© S < \@© S < \@© S < \@© S
> = \@© > = \© > = \© > =z \©
A m ey A m ey A m ey A m ey
7 Bas 7 Bas 7 Bl 7 sol
g Lo g Lo g Lo g Lo
u] u] u] u]
16 17 18 19 20 21 22 23
AU)ZQOUA 12Eé°8 4,493.5 4,493.5 38,511.0 38,511.0 9,811.2 9,811.2| 10,338.2 10,338.2
=1 AT 450
AUAZ20ET I2EE°s 4,493.5 4,493.5 38,511.0 38,511.0 9,811.2 9,811.2| 10,338.2 10,338.2
=1 AT 40
2pbE2T2UgL 12802ToacAuasU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=i AT 430
. ASUAT Tx3AT140 SRE3T3T3A0»A ~~ NS T»E3 1x3AY»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S0 At sl
- ZBE3'I'éOY»ﬁC SRE3T313A0»A ~ NBT»EBTx3AY»0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I12e20a0AlasuUUCHE ©1 24a02UgUPCdE 4,493.5 4,493.5 38,511.0 38,511.0 9,811.2 9,811.2| 10,338.2 10,338.2
0ceg” °dacd
=1 AT 430
P3R&YST=13Y 1SEéxn 125.0 125.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT40U
“YY»A-»> W CT 1263a0Aa0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-T=3AC 12631a0Ra0Y »h 125.0 125.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-AS1T3Y I3BEé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TanTa0a0UY»1C ~ BAC= - SIABARGYY»NC 12 Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3U3Y= A3y SE 12631a0AA0Y Y »AC O»EUp»iiatl 4,368.5 4,368.5 38,511.0 38,511.0 9,811.2 9,811.2| 10,338.2 10,338.2
=i AT 40
-p3US131-430Y 1263 a0Aa0Y Vi 1,425.0 1,425.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTI3SI3Y I363(a0AIaiYY»i 1,150.0 1,150.0 514.9 514.9 0.0 0.0 0.0 0.0




20lase=T 07-06-01

0ce

16 17 18 19 20 21 22 23
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 1,7935 1,7935 37,996.1 37,996.1 9.811.2 9,811.2| 10,338.2 10,338.2
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




Tee

20lase=T 07-06-01

16 17 18 19 20 21 22 23
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D 20i4563T 07-06-01
Af»YOC 7-A1 NALT2TAT pidicr T =3CY TSE»AC - 4f1=26Y=T3Y 1363T3/-U=Y 07 p=AYC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

S AT AST 1= -fofiC
~ AGRT-U6Y= > ofiC 200 NG T =Y &0A&0VY»iC .
A=U=V=T=140 40> - AU=Y TSVESA -3V~ T»A=NETU=Y p=v ;353";'10 ZU\%UM Yie
UCG&6AT DD USi=ICY TYWRAYC TA0UC6 CR2T=Y20180 | rayaySstad a or=Tos
3¢a0¢2a=2(=T=Y e»Yav2IcY -ACAC T =Y LRl i
TSUSTA&ACAAY Y »iid0) R=U=xSA=T2p=Y=T=Y 6260 o eyt
VART= T2V [=262l40Al40YV»AG RGUYU=Y ~ 2A0= - 3Vu0=Y FoRafETU=Y 72 -Ci
U= 486450 1R2BU2RYAANZICY T7= -G
e ) £ AR £ 31 Aracl Aewr 3 Atasl Aewr 31 Aracl Aewr
173 33 33 - ~ - ~ - - ~
BATT=IC =YT=vaA - IS ¥3RA0V»AC - I=13AR40Y>AC w | r=r=haovsic
S B S
> . > >
ul = ul = ul =
& Ly & =8 & Ly
= g2 = g2 = g2
3 = X - X T
[ sol [ Sl [ sol
& o) & o) & o)
< g0 < g0 < g0
n > n > n >
24 25 26 27 28 29
AU _=0°UA 12E6°0 10115 10115 27.808.6 27.8086| 1821217 1821217
31 Aracl
AUAZOET 12E695 10115 10115 27,0005 27,0005| 409454 40,9454
31 Atasl
2PEZT20pk 12602T080AUA0U 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
_ASUAT 1x2h140 SESTST2M0oR NS 162 IxSAT»h 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
TSRESTA0V>AC SRES TS 13000 NS 1> [x3AYoh 00 00 00 00 0.0 0.0
1262020A0a00UCBE ©1 2a02UsU°0k 00 00 27,0005 27,0005 0.0 0.0
0°eg” ©826
31 Atasl
PERANYST=T=Y [SEeh 0.0 0.0 0.0 0.0 0.0 0.0
=1 A4l
IR > T CT 1262 BNATI»h 0.0 0.0 0.0 0.0 0.0 0.0
“TSAC 1263aNaYVoh 0.0 0.0 0.0 0.0 0.0 0.0
“2a=Nai= A=13Y 1SEérn 0.0 0.0 0.0 0.0 0.0 0.0
TaRTA0080Y>1C ~ Bic= - SAABIY»AG TSEeh 0.0 0.0 0.0 0.0 0.0 0.0
a=lU=7= AT S 1263 ROARIVY»NC O»6Up»nady 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afal
“P=UST1=0-53KY 126=laAaT Voh 0.0 0.0 0.0 00 0.0 0.0
NN e e M EFE P AN 0.0 0.0 0.0 00 0.0 0.0




€ee

20la6e=T 07-06-01

24 25 26 27 28 29
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0
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2UE ~‘| ZEéOB 764.2 764.2 764.2
31 Afadu

P3fil»h, &3 W 31CA 1x3AY»i ~ wWailA»i, afayo 764.2 764.2 764.2

2637302 T3P USTSALISTY»AC TA0UC6 TCR=6T40U

»Y UGUI=Y6 YT=rU=0p

20la6e=T 07-06-02



€ve

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T =3ICY TSEe»AC - 4f1=26Y=T3Y 136313/ U=Y 08 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P3I»ET31 N 5 - | »é308(3T
200as6=T N 08-01-01

20la6e=T 08-01-01

St ATa0l ASH TR - fofiC

PP 263¢YasAlaVY»ACY
UCc=3%-3(CY UCcad3éailY»fAcY
U3eY3T6aAI3Y =&3Naiu=y
N=03f USAUCTY»AC

PSEUSWCETY»AC

O -

a

rASETUSY

1=é6={45AlA5Y Y »fi

§EST=-a0lY USh=T3Y
Avrsyea) UrioasiAc
3Y61306400

p=pU=Y1=U=(CY

BAARTCY 3647140

1=é6=3(aMa5Y Y»ii

YSEs3asTRSE Al T
| =e=cvashiasvy»c =V6T=6400
AY1I3U»YA
13ec =1 R T4AN AA-e- N P P PP S
P PPN x e £ [+ AT&dU Aér 31 AT40U Aér 3 Ataju Aé 31 At1adU Aé
173 33 33 - k) - ~ - ~ . - . - o
BAtT=IC =vr=vaa an=na - I=1=/40V»AC - | TEwsRvsic | o [T wsAasAc | o | I3 w=hadsic
(N=%=n G G G @
ASBUY»AAT < . < > < . < .
) 0 = " [ 0 = " =
\o— P g - I 5 - P g8 - Pt g8
. OR o'Z . & 0 . OR o'Z . OR o3
\< 'm o T @ \< AT - \< 'm o T T \< 'm o T
X cc A X M M A o A N ic i A
> @ () 2 M > \ e > @ ) 2 > @ ) 32
0 o 0 g M R 0 o 0 g 0 o 0 G i
d oM L0 d NI d of) 20 d oM L0
>= 8 [ W > M = > 8 m W > 8 m |
< o 0 < =1 < o 0 < o 0
l% > 8 1% > 1% >
1 2 3 4 5 6 7 8 9
AU . 2@°UA 12Eé°d 538,987.1 295,795.6 295,795.6| 21,516.6 21,516.6| 36,600.0 36,600.0| 1,275.0 1,275.0
3 A4l
AUAZ20LT 12Eé°d 538,987.1 295,795.6 295,795.6| 21,516.6 21,516.6| 36,600.0 36,600.0| 1,275.0 1,275.0
3 A4l
?ZéZUéﬁAUéf)UUOB/E o1 2462UgU°sE 44,166.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OPeg” @oadd
3 A4l
asu=sys- ﬁ3DQY 3 i3é3ﬂéﬁAﬂéﬁYY>>ﬁQ O»él]p»ﬁéﬁU 24,166.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
—AVINSYAR WYadAC S 136=3a0Aa0Y Y»h 24,166.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ulaokon (Z&A=YUY»1) 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
A= E»VIS 1210V VidbA»n -~ N=-a0e 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 02@2pUasbles 29,453.7 0.0 0.0] 21,516.6 21,516.6 0.0 0.0 0.0 0.0
3 A4l
_ASUSBYARNY»A UCeS%-3I0Y 1370 I»naaiAadyY»Acy 7,037.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- AVAS6CT 1R=USRVARNY »n UGG =% SICY 7,937.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=03 T»AA40AIA6YY»ACY
AVAS6CT LA=USRYARNY >R &» T S13Y NS 1 121G SE 21,5166 0.0 0.0[ 21,5166 21,516.6 0.0 0.0 0.0 0.0
UST3R13TY»ACY
3 ATasl
- 2 AYA=6CT 1= U=RYanny »f 21,5166 0.0 0.0| 21,516.6 21,516.6 0.0 0.0 0.0 0.0




e

20la6e=T 08-01-01

1 2 3 6 7 8 9
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 87,270.3 0.0 0.0 0.0 0.0 36,600.0 36,600.0 0.0 0.0
=1 ATaiU
Ga0C3E2T3Y (- YalAlBY 1A3U=T3Y S 3N=3w aiAl=up 87,270.3 0.0 0.0 0.0 0.0 36,600.0 36,600.0 0.0 0.0
YaS&TY»h (Uadig»Co)
SR YEL
TTRAST3Y, URSTAASICY ~ 6RART3KY YASE 1 Vi Hac»Co 87,2703 0.0 0.0 0.0 0.0| 36,6000 36,600.0 0.0 0.0
2UE 12Eé°0 378,096.3 295,795.6 295,795.6 0.0 0.0 0.0 0.0] 1,275.0 1,275.0
=1 ATaiU
UTCAST TatAladYY»A 43 136313043 13Y (N263A31313Y) 378,096.3 295,795.6 295,795.6 0.0 0.0 0.0 0.0] 1,275.0 1,275.0
T3 T»AA40A1A6YY»ACY
=1 ATaiU
TOTChS 1 1&0AROYY»n SE R3Na0A 2> 1 SAY1E0 378,096.3 295,795.6 295,795.6 0.0 0.0 0.0 0.0| 1,275.0 1,275.0

T3 T»AA40AIA6YY»ACY




§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T =3ICY TSEe»AC - 4f1=26Y=T3Y 136313/ U=Y 08 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 08-01-01

Sve

=1 ATa00 Aer TA=-fi»AC
PP = T=303T3Y ACU»AC O 48
fEt e i e oo 1iaa3lC
ESran =1 - . »AC I 2E3A140AI=Y PIT31440Y - 3ICY
USAUCAT»C OTASEAANALC 8R4TWC VALY P A
T=N0=waoAlasY USECY N=U=0=Y=-ficY +363TAY»ACY aNI3T3taARYA
SRE3ANC S URACAYY»RCY =Y12)=2T6450) o el Rk
BESANG BUACATY»ACY yr=Ustoal UseYSToasASY =y13(316400
ATwiabeEnG =33fa1 40
R=rT=6400
e = e AR 31 Aracl Aewr 3R Atacl Aer 31 Atasl Aer 31 Aracl Aer
173 33 33 - P - ~ - - o - ~
BATT=IC =YT=vaA —  |1=wsRsosac| - |Tewsaeoveac | - [T rsmsomac | = | 1= Tr=RacYsac
& & & &
. > . > . > . >
0 = 0 = 0 b3 0 =
RS = i;gri = = i;gri = =4 i;gri = =
. Og O . OK oS . O OS . OB 0%
\< - o T \< - o T T \< - o T \© \< - o T \©
X == él(’r'): X = zc\glof,): X c él(:'): X = lcél&):
(f)D SE??,,I(;)::: (f)D ;%?g,%:zc (f)D ;%?g,%:zc (f)D ;%?g,%:zc
d :wo’),z(*') d :w(f)zzm g :wmzzm g =w0’),z(*')
> 8 - | > 8 - | > 8 - | > 8 - |
< oM < oM < oM < oM
IE > l% > l% > 1% >
10 11 12 13 14 15 16 17
AU _2@°UA 12Eé°s 11,809.5 11,809.5( 3,734.4 3,734.4( 46,299.3 46,299.3( 4,202.7 4,202.7
31 Aracl
AUA20LT 12Eé°8 11,809.5 11,809.5( 3,734.4 3,734.4( 46,299.3 46,299.3( 4,202.7 4,202.7
31 Atasl
1282020AU2000°8E ©1 2a6=UpU°8k 0.0 00[ 00 0.0 0.0 00[ 00 0.0
O°Peg” @oadd
31 Atasl
a3U3Y3 - 13y 3E 136 SR0ARVY»AC 0»6Up»iady 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
T AVINSYaAdN pYAOAC SE 1363 R0N&DY YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OlasAnn (ZARSYUY»1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
RS VIS T3ICY Vidohoh -~ N2 - 2061 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 02@2pUasbles 0.0 0.0| 3,734.4 3,734.4 0.0 0.0 4,202.7 4,202.7
31 Arasl
_ASUSRYARNY»n UCCS%- 3ICY T3R0S TN Aa0A&sYY»ACY 0.0 00| 3,734.4 3.734.4 0.0 0.0] 4,202.7 4,202.7
31 Arasl
TAVAS6CT TABUSRYARNY»A U3 ST 0.0 00| 3,734.4 3.734.4 0.0 00| 4,202.7 4,202.7
=03 T»AA40AIA6YY»ACY
AVASGCT 1A=U=RYAMNY ot 8o W =T N0 121G E 0.0 0o0[ 00 0.0 0.0 00[ 00 0.0
UST3R13TY»ACY
31 Arasl
—ZE AVA=6CT IRBUSRYARNY »A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




e

20la6e=T 08-01-01

10 11 12 13 14 15 16 17
éélOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°s 11,809.5 11,809.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 11,809.5 11,809.5 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
TTRAST3Y, URSTAASICY ~ 6RANT3KY YASE 1 Vi aic»Co | 11,809.5 11,8095 0.0 0.0 0.0 0.0 0.0 0.0
ZUE~ 1 ZEéoé 0.0 0.0 0.0 0.0| 46,299.3 46,299.3 0.0 0.0
31 Afadu
UTCR=T TA0AG0Y Vo1t 4 T=e=1 2182137 (e=n=1=12Y) 0.0 0.0 0.0 0.0| 46,2993 46,299.3 0.0 0.0
1=40=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
TOTChS 1 1&0AROYY»n SE R3Na0A 2> 1 SAY1E0 0.0 0.0 0.0 0.0| 46,2993 46,299.3 0.0 0.0

T3 T»AA40AIA6YY»ACY




YA

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T =3ICY TSEe»AC - 4f1=26Y=T3Y 136313/ U=Y 08 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 08-01-01

Pa1T=1¢ =YT=VaslA

S ATa0U ASH 115 fofiC

GICUAC3T3Y E=30»fail, 3RE3ANC
©THAA3IC 3é3¢YatAlasyY»hiail u=non
Si1asYay»ic N=6=1 pp NS T303T3Y
ACU»AC USA%CTY»ACY =™ YASY6
USHinCaY»ficY b USE=-3(C
SYT3Y2T3Y AAR=10 N30 T=06400

Pb N=T=0=T=Y ACU»fCY
Usiin== - aewar
U=i=l=Y1A0=3Y0a T
333Nar4il

UR=YTayavC=3(C 8-t
U=3hn=3U0R3TasA=3(CY
E=0»ACY D226 13YC
USAn=3T3Y
&3TiCAsTash=Y
U=eY3T6aAIBY
=233fa74

§Of»E3Y»AC EY3UUC
A= A=VaAl=Y
E=r=-a0ly U=y
N=er=waphAlagy)
URi6adlAC =YoT=645U

22 Afal A6
T=212/a0Y»AC

2 Afal AS
T2 =2ha0Y»AC

21 Afal AST
T2 =2ha0Y»AC

21 Afal AS
T=7=2/a0Y»AC

@ @ @ @
e p e piem e
0 [ 0 [ 0 [ 0 [
RS IR = G ! = G ! = =
. 08 oZ . o8 oI . o8 oI . 08 oI
§ - @ § - e g § - e g § - g
3 Sy on 5 Enon 5 Enon 5 Enon
(Y)D of 0 ’o‘,): i (Y)D of ’o‘,): i (Y)D of D ’o‘,): i (Y)D of 0 ’o‘,): i
o :mo‘),z(") d :w(f)zzm d :wmzzm d =w0'),z(*')
> 'm | > 'm | > 'm | > 'm |
< 85 7% < 85 % < 85 % < 85 %
IE > l% > 1% > 1% >
18 19 20 21 22 23 24 25
AU _2@°UA 12Eé°s 37,500.0 37,500.0( 20,000.0 20,000.0| 29,676.4 29,676.4| 4,975.0 4,975.0
31 Aracl
AUAZ20LT 12Eé°d 37,500.0 37,500.0( 20,000.0 20,000.0| 29,676.4 29,676.4| 4,975.0 4,975.0
31 Atasl
jZéZUéﬁAUéf)UUOBIE °1 2a62UgU°sE 0.0 0.0] 20,000.0 20,000.0 0.0 0.0 3,647.8 3,647.8
O°Peg” @oadd
31 Atasl
a3U3Y3-A3ICY 3F 1363a0Ala0YY»AC O»élux»iiasy 0.0 0.0 0.0 0.0 0.0 0.0 3,647.8 3,647.8
31 Atasl
- AYIN=Ya6R uYadlAC 3 1=2¢3asAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0| 3,647.8 3,647.8
UlasA»f (ZARZYUY»H) 0.0 0.0] 20,000.0 20,000.0 0.0 0.0 0.0 0.0
31 Arasl
- AZE»YIRT3(CY YiaiA»n " N=- 46 0.0 0.0] 20,000.0 20,000.0 0.0 0.0 0.0 0.0
. 02@2pUasbles 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- AYA=6CT 1A=U3RYARNY»fi UCe3%- 3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=03 T»AA40AIA6YY»ACY
AYA36C-I- 1r~‘,l3U3jBYéﬁNY»ﬁ A>T 3ISYNSTI131C 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3R13TY»ACY
31 Arasl
- 2[f AYA36CT 1A3U3RYARNY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




8ve

20la6e=T 08-01-01

18 19 20 21 22 23 24 25
éélOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°s 37,500.0 37,500.0 0.0 0.0 0.0 0.0| 1,327.2 1,327.2
31 Afadu
éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 37,500.0 37,500.0 0.0 0.0 0.0 0.0| 1,327.2 1,327.2
Ya3&wV»f (lase»Co)
31 Afadu
TTRAST3Y, URSTAASICY ~ 6RART3KY YASE 1 Vi Hac»Co 37,500.0 37,500.0 0.0 0.0 0.0 00| 1,327.2 1,327.2
ZUE~ 1 ZEéoé 0.0 0.0 0.0 0.0| 29,676.4 29,676.4 0.0 0.0
31 Afadu
UTCR=T TA0AG0Y Vo1t 4 T=e=1 2182137 (e=n=1=12Y) 0.0 0.0 0.0 0.0| 29,6764 29,6764 0.0 0.0
1=40=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
TOTChS 1 1&0AROYY»n SE R3Na0A 2> 1 SAY1E0 0.0 0.0 0.0 0.0| 29,6764 29,676.4 0.0 0.0

T3 T»AA40AIA6YY»ACY




6v€

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T =3ICY TSEe»AC - 4f1=26Y=T3Y 136313/ U=Y 08 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

Pa1T=1¢ =YT=VaslA

S ATl ASH T7= - fofiC

BB USfiv»fig, @A 3Y 0=3030C
E0P NSVASTAASTSY 2ARA6THC
1-3-A1 7 4-7-f1 1BESABYY»fiC
SR3T»AWY»AC UGe™
8§8AZATESY1C=3] USA3T3Y
UCgad=éu=Y 3Y6T=064il

a»3T3Y U2A0CYY»Ac
SRE=T3TCHY»AC UG
NA=0 - a6AI=Y
NBYA3&» 1T 3T3Y
UrioadlAC 3Y61T=3645U

2¢=T6asAlaoy h=l=T=Y
=30 TAE

AUMB=UT U420
121 S60=VA

22 Afal A6
T=212/a0Y»AC

=1 ATaiU A6

TS T3040Y»AC

=1 ATV Asr

TS T=2Ra0V»AC

\© \© N
ple e e
0 [ 0 [ 0 [
= = = = G = R
= 08 o = OR 0Z - R O%
$ - g $ - G $ = e g
; it s | S53% | 3 | £52k
(Y)D c% (2, ’o‘,): i (Y)D of 0 ’o‘,): i (Y)D of ’o‘,): i
d oM 20 d oM 20 d oM 20
> 'm | > 'm | > 'm L
< o S < 2 oM < 8 oM
IE > IE > 1% >
26 27 28 29 30 31
AU _2@°UA 12Eé&°d 19,852.6 19,852.6| 700.0 700.0| 5,050.0 5,050.0
=1 ATasu
AUAZOET 12Eé°3 19,852.6 19,852.6| 700.0 700.0| 5,050.0 5,050.0
SR YEL
jZéZUéﬁAUéﬁUUC’é/E °i 25620gU°sE 19,852.6 19,852.6| 666.4 666.4 0.0 0.0
0°eg” ©daid
SR YEL
a3lU3Y=-iA3CY 3E 13¢3a0AlasYY»AC O»etu»iiaiu 19,852.6 19,852.6| 666.4 666.4 0.0 0.0
SR YEL
- AYIN3YAGA pYadlAC 3 1=3é63a0Ala0Y Y»ii 19,852.6 19,852.6| 666.4 666.4 0.0 0.0
UladA»h (2AR3YUY») 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
- A=6»YIST3(CY YiaiA»h " N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0
. 02p2pUasbues 0.0 0.0 0.0 0.0 0.0 0.0
S YEL
. ﬁ3~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYAS4CT 1A=3U3RYAANY»f UCeS31h- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0
=03 T»AA40AIA6YY»ACY
AYA36Q'I' 1ﬁ3U?BYéﬁNY»ﬁ A U3I3YNSTI=IC 3f 0.0 0.0 0.0 0.0 0.0 0.0
UST3A13TY»MACY
SR YEL
- 2[E AYAZOCT 1A3U3RYAANY» 0.0 0.0 0.0 0.0 0.0 0.0

20la6e=T 08-01-01



0s€

26 27 28 29 30 31
éélOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°s 0.0 0.0 33.6 33.6 0.0 0.0
31 Afadu
éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 0.0 0.0 33.6 33.6 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
TTRAST3Y, URSTAASICY ~ 6RART3KY YASE 1 Vi Hac»Co 0.0 00| 336 336 0.0 0.0
ZUE~ 1 ZEéoé 0.0 0.0 0.0 0.0 5,050.0 5,050.0
31 Afadu
UTCR=T TA0AG0Y Vo1t 4 T=e=1 2182137 (e=n=1=12Y) 0.0 00| 00 0.0| 5,050.0 5,050.0
1=40=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
TOTChS 1 1&0AROYY»n SE R3Na0A 2> 1 SAY1E0 0.0 00| 00 0.0| 5,050.0 5,050.0

T3 T»AA40AIA6YY»ACY

20la6e=T 08-01-01



Ts€E

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20- U3V 08 p=AYC 02

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

200a56=3T N 08-02-01

P31»tT31 N 5 - | »é308(3T

20la6e=T 08-02-01

31 ATa00 Aew 1A= -fi»AC
DA T 3ASTAAIAIYY»fAC
~ Y T A A% R AR -ASYOU3Y, NSRT=36U3Y
I13IAY 3 BA3| 4
91 ASBY3ICY 13é3la0AladYY»h U= Y2 - CraT2y
1=¢3aAlacyY Y»h
AY23U»YA 3 ATasl AST 3 ATasl ASr
o 138¢ - T3 3Aa0V»C - T3 3Aa0V»AC
PaLi3IC 3Y13YalUA -§6U3ﬁA A A
I ue I iels oz o8 |0 7 & & LE
n »Na |) \— 1:?:% i% :m_ -~ zg i% I ;% S>> i > % \— e i%
< Sglnolg| 88 |Lhogas < s
A e Q % =2 —C zg zg = zg . A -
S Kog M g il Mmoo T @M & S Mmoo
U] i =V o <2 c WL g T g [U] [Sal e
d el segn | 20 |£503H d >
Z S| o=a A Qi g 1T Z QiU
S0 80 n |8 0 = 0
0 > > > > 0(‘5 >
1 2 3 4 5 6 7 8
AU _2@°UA 12Eé&°3s 318,040.8| 306,730.7| 9,660.6 24,330.5| 248,710.2 24,029.4 11,310.1 11,310.1
31 Arasl
AUAZ20LT 12Eé°d 318,040.8| 306,730.7| 9,660.6 24,330.5| 248,710.2 24,029.4 11,310.1 11,310.1
31 Atasl
eao” ek _k=20°s 310,040.8| 298,730.7| 9,660.6 24,330.5| 240,710.2 24,029.4 11,310.1 11,310.1
31 Arasl
GAINECIC3Y» &» W 3T3Y 133 T»AAAAAIYY»ACY 310,040.8| 298,730.7| 9,660.6 24,330.5| 240,710.2 24,029.4 11,310.1 11,310.1
31 Aracl
- éé\fgpé@lge*\'(»ﬁ ai )'/QY?Yé?;IéY OT3I3Y 310,040.8| 298,730.7| 9,660.6 24,330.5| 240,710.2 24,029.4 11,310.1 11,310.1
T3W3T»AA4a0Ala0YY»ACY
. 02@2pUasbles 8,000.0 8,000.0 0.0 0.0 8,000.0 0.0 0.0 0.0
31 Arasl
13ACT 3L 1ASUSRYARNY»A &> TS 13Y N3TT31C 3k 8,000.0 8,000.0 0.0 0.0 8,000.0 0.0 0.0 0.0
UST3A13TY»ACY
31 Atasl
- T3§1§'IT3‘E 1ﬁ3Q3BYéﬁNY>Zﬁ ép?'l'3'!'3"( “ N3U=3IYo=ICY 44 8,000.0 8,000.0 0.0 0.0 8,000.0 0.0 0.0 0.0
3¢ TA3ICY T3WST»AAA0AAYY»ACY




Zse

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 08 p=AYC 02
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P31»tT31 N 5 - | »é308(3T

200a56=3T N 08-02-02

20la6e=T 08-02-02

SH AT AST 17= - fofiC

A3Y-=iBY3CY 1=6=3a0AlasYY»A ~ 646623V 1»EY»h

S¢TTASGY T3WST»RAaiAIAYY»fACY

AY130»YA 11 K e AAM Asmam
1=35C _?Ul Al aoq Ae ]
— . . N N . 3P 3R4 A
PALT=IC =Y T=V45UA - &6U=fA = I=1=na0v»n¢
(N340 < > w T >
1ASUY»RAT 0 N> P o> o > S > > > >
fiSUY»AAaT) = 28 o8 i< 3 % % S| of 3% f " o o
2| =% ST |53 "5 |l 25| <5 | €5 | 35| 8%
< > 8 & & NS 8 R L8 n o g M g M brallV] o oM
> N PN M = c 2> | S Q! M > -
A 0 < bl off U] § Qo> = - c @ el o Q -
) K.g 0 M0 @ () -2 0 " ‘a m oA 1T A (SN 1 'a NN
[0} = & s ol o 0 o 0L < off & 0 ofg a of @ °® M o
d 7o 0 o O 20| v= 2= | 8= = SO
> o U 2 B M W 0 M ic = ic o= yic ic
< ) 0 oo M D om=1 ap 0 0 0 i a[n
23 & > : 0 A S 2> S D D D
= 8 8 > off
1 2 3 4 5 6 7 8 9 10 11 12
AU _2@°UA 12Eé°3s 444,453.6| 375,022.0 7,199.9| 303,002.6| 30,692.8 8,191.6( 3,102.8( 3,030.6| 3,027.0| 11,208.8| 2,740.1| 2,825.8
=1 ATasU
AUA20LT 12Eé°8 418,453.6| 375,022.0 7,199.9| 303,002.6| 30,692.8 8,191.6( 3,102.8( 3,030.6| 3,027.0| 11,208.8| 2,740.1| 2,825.8
=1 ATaiU
eao” ek _k=20°s 368,838.6| 368,838.6 7,199.9| 296,819.2| 30,692.8 8,191.6( 3,102.8( 3,030.6| 3,027.0| 11,208.8| 2,740.1| 2,825.8
=1 AtasU
GAINECIC3Y» &» T 3T3Y 133 T»AAAAEIYY»ACY 368,838.6| 368,838.6 7,199.9| 296,819.2| 30,692.8 8,191.6( 3,102.8( 3,030.6| 3,027.0| 11,208.8| 2,740.1| 2,825.8
=1 ATaiU
- @AIPECIC3Y»1 43 yCY3YEZT3Y &» 313y 368,838.6| 368,838.6 7,199.9| 296,819.2| 30,692.8 8,191.6( 3,102.8( 3,030.6| 3,027.0| 11,208.8| 2,740.1| 2,825.8
=03 T»AA40A1A6YY»ACY
. 02@2pUasbles 49,615.0 6,183.4 0.0 6,183.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S YEL
AVASGCT 1i=U=RYARNY »h B0 1 213V N1 121G 3E 45,6150| 12,1834 00| 21834 0.0 0o0[ 00| 00 00 0o0[ 00| 00
UST3R13TY»ACY
=1 ATaiU
TAVAS6CT Ba0RT»YOCSVoh NSUSN O »AGY 43,4316 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVASGCT Ti=USRYARNY >N B0 1 =T~ N2U=N 0P Y a2 1,050.0]  1,050.0 00 10500 0.0 0o0[ 00| 00 00 0o0[ 00| 00
3¢ TARABICY T3WST»AAA0AAYY»ACY
“2EAVAS6CT Tn3USRYARNY > 11334| 11334 00| 11334 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TSACT 3L 1ASUSMYanNY»n B> 1313V N3 T131C 3F 42,0000 4,000.0 00| 4,0000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»iCY
3r ATédU
TASACT 3L RSUSANNY»A 2> 13137 - NSUSN 3Ky 4a 42,0000 4,000.0 00| 40000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




€8¢

20la5e=T 08-02-02

1 9 10 11 12
aa QEU?UéZTZU 2TTEIUCSE T1a1 12E&°8 26,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadu
D/F.QUZI‘ZU DEea0U*d 26,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Aradu
D?Ugoé ©1 bEUasAUAUUSS 26,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Aradu
- P»YU»AC " BCYAAIASYY»AC RCYSASAatAla0Y 26,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




vSe

8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Af»YOC 7-A1 NALT2TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 08 p=AYC 02
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

=1 A1480 Aer TA=-finfiC
P3[=ew3YC
AR N A el D3YAS&» TaAIBY
ARBTAASICY QU TEYSAC | o o0 o o
s ik A% R (12 AV NSU3IYU3ICY plade»Y»AcY
3H3 é p
BeYSh=naclaoy SADLT»YOCSVHAC
TASU31i4AU
S ATa S Sl ATasl AET
Pa1i=1C 3Yi3YaiUA - I1371=30a0Y»AC - 131 30a0Y»N¢
= - R =
N \>_ \>_ ~ N
0 - 0 > 5
- 3% 3% % - mg > > 0
< §E R8T < L0 0s
> e 25T N =232
A NS> A R
] el U] 2 .
) ) O L= ) 0w
o N U] 0] o b ul U]
> V) > -0 Q‘ g}
< i 9 < gl <o
8 S off ' >
13 14 15 16
AU _2@°UA 12Eé&°s 26,000.0 26,000.0| 43,431.6 43,431.6
=1 ATasU
AUAZOET 12Eé°3 0.0 0.0| 43,431.6 43,431.6
=1 ATaiU
éao” ek _k£=20°s 0.0 0.0 0.0 0.0
=1 AtasU
@4iueCIC3Y»i A» W 3T3Y 133 T»AAAAIAIYY»ACY 0.0 0.0 0.0 0.0
=1 ATaiU
- @A0PECIC3Y»A 41 YCYSYEST3Y a» 313y 0.0 0.0 0.0 0.0
=03 T»AA40A1A6YY»ACY
. 02p2pUasbues 0.0 0.0| 43,431.6 43,431.6
S YEL
AYA36Q-I- 1r~‘,|3U3,BYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0| 43,431.6 43,431.6
UST3A13TY»MACY
=1 ATaiU
- AYAS6CT 60T »YOC3Y»ii NSUSIYUY»ACY 0.0 0.0| 43,431.6 43,431.6
- AYA36Q._I- ‘1ﬁ3U?BYéﬁNY»ﬁ~ .é»,'!'?"l'?“( “ NSU3IYO=3(CY 44 0.0 0.0 0.0 0.0
26" ASCY T3S T»nAasAlasYY»ACY
- 2[E AYAZOCT 1A3U3RYAANY»h 0.0 0.0 0.0 0.0
T2ACT 3t 1ASU3RYAANY»A 8» T 3T3Y N3 T131C 3 0.0 0.0 0.0 0.0
U:“‘-I.f"ﬁl?-l'Y»ﬁCY
31 Afadu
- T3ACT 3t 1ASUSRYANNY»A &» 03 13Y " N3U3IYU3ICY 44 0.0 0.0 0.0 0.0
2S¢ TABICY TSRS T»AAA0AIAYY»ACY

20la6e=T 08-02-02



feie1

13 14 15 16
aa QEU?UéZTZU 2TTEIUCSE T1a1 12E&°8 26,000.0 26,000.0 0.0 0.0
31 ATadu
D/!EQUZI\ZU DEea0U*d 26,000.0 26,000.0 0.0 0.0
3 Aradu
D?Ugoé ©1 bEUasAUAUUSS 26,000.0 26,000.0 0.0 0.0
31 Aradu
- P»YU»AC " BCYAAIASYY»AC RCYSASAatAla0Y 26,000.0 26,000.0 0.0 0.0

20la5e=T 08-02-02



9s€

8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Eex»AC -aRI36Y2T3Y 1263137 U3Y 08 u=AYC 02

EUC 03 126G Th=-fi»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAl=YaUY Aew

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T 2 TY»AC

P3I»ET31 N 5 - | »é308(3T
200a56=3T N 08-02-03

S ATl AS T T7= - fofiC

P=303{Yu3(CY URSTAIIAC ™ 313w A3U3Y6C
T3W3T»Adal

=1 ATaiU Asr

=03 T»AA40A1A6YY»ACY

AVISUYA | TST3[407»AC
135¢ o=t
PATT=1C 3YT=3Y4iUA - 80UiA 0 o . . .
(=%=4 RS gg o0 o 20
PO — <L, S0 KLac &
1n3UY»na|) i .:% R 0?3 Sf) am 8 Sf)
A |l =%2lg%] 8%
0 sc | S| o | 0
g = e | gE | =i
< W | 85 i
> D D D
1 2 3 ] 5 6
AU_2g°0A 12E6°5 7.8235| 7,823.5| 6,551.8| 386.4| 498.9| 386.4
3 A4l
AUAZOET 12E6°5 7,8235| 7,8235| 6,551.8| 386.4| 498.9| 386.4
3 ATasl
8a0” ek_£20°5 7,8235| 7,8235| 6,551.8| 386.4| 498.9| 386.4
3 A4l
BABIECICITA B 1 212V 133 I»>AAAAEVY»ACY 7,8235| 7,8235| 6,551.8| 386.4| 498.9| 386.4
3 A4l
~ BADPECICSYN 48 YOYSVE=T3Y ar 12137 7,8235| 7,8235| 6,551.8| 386.4| 498.9| 386.4

20la6e=T 08-02-03



18€

8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Eex»AC -aRI36Y2T3Y 1263137 U3Y 08 u=AYC 02

EUNC 04 136G 1A= -G - Tal N2 =0 121 3 T20a00V»AC T»>AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=3T N 08-02-04

20lae=T 08-02-04

S ATadl AT TS - fofiC

2AECT={CY
1=63a5AlAGYY»h

AR3TAAZICY SAASUY»AC
A0SV &A=
1363(A0AIa0Y Y»h

p3=er3Ye
D3YAZ&» T alAlBY
N=03{YUSICY wiadc»Y»AgY
BAUT»YOC3Y»AC
ThA30317400

p=lii»YCu - 6+laséu
_ -anlSTeahl=y
[7i= - fixAC CAZT=Y=6400

AYI3(»YA — — — ——
13é€ = ATal Asw = ATal AsT = ATal Aer = ATasl Aer
PALT=TC =Y T=VAUA - 450=RA - I3 T3ha0Y»fic - I3 T3ha0Y»ic - I3 3140V »AC - I3 T3/a0Y»iC
(N3%=3 < < < =
BBV A T > . > > > > >
1A3UY»Aar) l(?: >g_>_ N 3 l(?: o8 l(?: >g_>_ N 3 l(?: UE
= 0Onm< = =L ‘= nm< = 5
< 2258 < 88 < 2258 < 28
A [ SENe I = A —C A T O A &
3 nmno 3 n 0 3 noao 3 T
0] \m i C U] = [U] 0 \m ] O e
g LoED g o0 g LoED g 2
< o b g < 8% < o0 =g < )
a="0 4 a="0 4
1 2 3 4 5 6 7 8 9
AU _2@°UA 12E&°8 165,713.0| 98,389.3 98,389.3| 5,033.8 5,033.8| 55,869.2 55,869.2| 6,420.7 6,420.7
3 AT4s0
AUAZ0AT 12EE°5 165,713.0| 98,389.3 98,389.3| 5,033.8 5,033.8| 55,869.2 55,869.2| 6,420.7 6,420.7
3 AT4s0
éan” ek _k=20°8 103,423.1| 98,389.3 98,389.3| 5,033.8 5,033.8 0.0 0.0 0.0 0.0
3 ATas0
BAIECICSY»A A» 1 3T3Y I3%I3T»NAAAAYY»ACY 103,423.1| 98,389.3 98,389.3| 5,033.8 5,033.8 0.0 0.0 0.0 0.0
3 AT4s0
- BA0UECICSY»A 43 YCYSVESTIY »u313Y 103,423.1| 98,389.3 98,389.3| 5,033.8 5,033.8 0.0 0.0 0.0 0.0
=03 T»AA40A1A6YY»ACY
_82@2pUasplos 62,289.9 0.0 0.0 0.0 0.0] 55,869.2 55,869.2| 6,420.7 6,420.7
3 AT4s0
AVA=6CT 1i=0=RVaARNY»A 8> W =12V R=wT=1C =F 62,289.9 0.0 0.0 0.0 0.0] 55,869.2 55,869.2| 6,420.7 6,420.7
UST3A13TY»ACY
3 AT4s0
- AYA36CT 45T »Y6C3Y»fi RBU3VUY»AgY 55,869.2 0.0 0.0 0.0 0.0] 55,869.2 55,869.2 0.0 0.0
- AVA=6CT 1A=0=3RVaANY» 8» =12V~ (=03V0=0Y ad 6,420.7 0.0 0.0 0.0 0.0 0.0 0.0] 6,420.7 6,420.7
3¢ TASICY T3S T»A240AIAYY »ACY




8G€

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20- U3V 08 p=AYC 02

EUKG 05 136G 1A= -AvfiC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
ISEe»AC TV 1»63-Cr3T3Y 13¢3T3h- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

20)as6=T N 08-02-05

20lae=T 08-02-05

S[ATa0U ASH 175 fofiG

o~

Ga»A3CY ~ p3h gy
SAT»8WC Y»AT3=064a0Y»A

21.3(CY ST31003T3Y
A’3'I'» ﬁ3ﬁ I'»‘é"I'C
Y»AT3(3646UY»f

PR=TAA=ICY UCca6=6450Y»AC CRETSY=6400

AY1=30»YA o L o L o ..
1=35C __3U1 Al aoL) Ae ] __3U1 Al aoL~J Ae ] __3U1 Al aoL) Ae ]
PALT=IC 3YT=VaiUA - &U=RA = 1371 37a0Y»NnC = 13713na0Y»NC = 13T131/a0Y»NAC
(N3%=3 < < =
S A T > > > > . . 5% .
1A3UY»har) \f?: o8 \f?: o8 f?: o8 o8 ?L'} 6‘ o 6‘ 3 6‘ 6‘
- L - g \— L S it = - > =
< ] 8 < ] ] < 88 @ G Ny n o g M0 @ M
A —C A —C 2 —C o] e m :- e :- ;E :- :% :-
g i) g >0 g 20| s [ B2 vE|2E | 8%
< 8% < 8% < 8% " ol gan | o 0
> > > > 8 foun] D 8 D D
1 2 3 4 5 6 7 8 9 10 11 12
AU _2@°UA 12Eé°3s 1,287,095.4( 252,895.8 252,895.8| 59,050.5 59,050.5( 239,675.4( 196,579.7( 38,578.4| 610.0/ 550.0( 300.0| 257.3
3 A4l
AUAZ20LT 12Eé°d 1,279,095.4( 252,895.8 252,895.8| 59,050.5 59,050.5( 239,675.4( 196,579.7( 38,578.4| 610.0/ 550.0( 300.0| 257.3
3 A4l
12&20a0AUasuUCBE ©1 2462UgU°dk 114.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0cegp” ©dad
3 A4l
P3AaYST313Y 13Eé»h 114.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
“ T340 1=2621a0Aa0Y Yo h 114.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek _k=20°s 919,685.3| 252,895.8 252,895.8| 59,050.5 59,050.5 4,517.3 0.0 0.0 610.0] 550.0f 300.0f 257.3
3 A4l
GAINECIC3Y»R &» W 3T3Y 133 T»AAAAEIYY»ACY 919,685.3| 252,895.8 252,895.8| 59,050.5 59,050.5 4,517.3 0.0 0.0/ 610.0f 550.0| 300.0] 257.3
3 ATail
- @AIPECIC3Y»1 43 yCY3VEZT3Y &» 313y 919,685.3| 252,895.8 252,895.8| 59,050.5 59,050.5 4,517.3 0.0 0.0/ 610.0f 550.0] 300.0] 257.3
=03 T»AA40A1A6YY»ACY
5‘62~®2D‘Ué169006 341,362.8 0.0 0.0 0.0 0.0] 235,158.1| 196,579.7| 38,578.4 0.0 0.0 0.0 0.0
31 Atadu
AVE=6CT TASUSRYARNY»A 8o 1 ST13Y N1 121G 3E 341,362.8 0.0 0.0 0.0 0.0| 235,158.1| 196,579.7| 38,578.4 0.0 0.0 0.0 0.0
USTSALSTY»ACY
31 Atadu
~AYAS6CT BA0UT»YOC2Y »it N2USNUV»TCY 63,024.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—AVAS6CT 12USRVARNY»A 8» 13137 -~ NSUSNU2I0Y 44 189,877.2 0.0 0.0 0.0 0.0| 146,697.2| 108,118.8| 38,578.4 0.0 0.0 0.0 0.0
3¢ TA3CY 13X T»AA40AIAYY»ACY




6S€

20la56=T 08-02-05

1 6 7 8 9 10 11 12
- 2 AYAS4CT 1iA3U3RYAANY»h 88,460.9 0.0 0.0 0.0 0.0| 88,460.9( 88,460.9 0.0 0.0 0.0 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aapb21U%s 11,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
éééC3E3_I-3Y' 0-YaiAlRY 1H3U313Y 3w 3N3rasAl=0u 11,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
- TRAZT3Y, URZTAAZICY ™ 6AaR T 3(CY YAZETY»A plaic»Co 11,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I 2Eé°6 6,533.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
U I'Cﬁ?'_l'l'éﬁAUéﬁYY»ﬁ ai 136313 13Y (N=BE3n31313Y) 6,533.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
-0 i§ﬁ3'l'féﬁAﬂéﬁYY>>ﬁ 3 R=NaglA AN»3AY140 6,533.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIATY Y »ACY
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D/E@pz’l\?U PExAOUCS 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"L"J}ZlO(j 1 bEUaAUaUUCS 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




09€

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 08 p=AYC 02
EUC 05 126G Th=-fi»AC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 136313003 NaLT2TV»AC

20lae=T 08-02-05

S ATa0l ASH 1A= - fofiG

PR=TAAZICY UCca6=6400Y»MC
CA=T=Y=26400

R3TaA=3ICY
OU»TTY»AC

RCY=h=nashlasy

8AA0ATATST3Y! A3 T3T1aM
TaaU=Y 2pA=726=1 2V0=2Y6
SU»Y3Uel3 &3 Tarx3n

PBew3Vg
D3YA= &, T AASY

N=0={YO={CY plae»Y»iAcy

BAIUT»YOCZY»AC
TASU31iaU

=0 ATl AGT 2 ATl A6 =0 ATa00 AGTT 20 ATa00 AGT
PALT=1C 3V T=VaiUA T3 =40Y»fC - T=T=140Y»fC - T=1=140V»AC - T=T=40V»AC
[i= > N i< =
N \>_ \>_ ~ . . .
(&3 k R O, R R oL 3
}g)’ 1(?: 2 1(?: f% 1(?: g 1(?: = zi(OU - zitoﬁ :D: = ’>3_ 6’ u;% 6’ i% > ?é = ) 6’ 6‘ ;l%
O IR =R IR NS = A5 = £ |hsegrRY: NS 2238
=xlss8s| w5l 2 | ogey | 3 |pbéalshsl 3 R
Sq| 2G| v | Lg| 7 psal m |Liisd2=n W Tre s
g | 8| s | g | = w0 S |28=u3%an| £ = 1
il o8y Ll < L oex < |%e gey o= < al =0
g S 8 > = >
13 14 15 16 17 18 19 20 21 22
AU _2@°UA 12Eé°3s 810.0( 400.0| 940.0( 650.0| 8,000.0 8,000.0( 11,400.0 11,400.0| 63,024.7 63,024.7
31 Arasl
AUAZ20LT 12Eé°d 810.0( 400.0| 940.0( 650.0 0.0 0.0 11,400.0 11,400.0| 63,024.7 63,024.7
31 Atasl
12&20a0AUasuUCBE ©1 2462UgU°dk 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°eg” ©5a00
= Arasl
P3AaYST313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
- T=AC 1=63a0Aa0Y Yoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek _k=20°s 810.0( 400.0| 940.0(f 650.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
BABUECICZY A Br T =13 137 I»NAabARoYY »ACY 810.0| 400.0| 940.0 650.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atacu
- BABPECICSY M1 43 YCYSYEZ I3 arn =13y 810.0| 400.0| 940.0 650.0 0.0 0.0 0.0 0.0 0.0 0.0
=03 T»AA40A1A6YY»ACY
562~®2I{Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 63,024.7 63,024.7
= Arasl
AVAZ6CT TA=USRYARNY»A 2o 1 213Y N1 121C 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 63,024.7 63,024.7
UST3RI=TY»ACY
= Arasl
-~ AVAS0CT BA0UT »YOC3Y»ii N2USNUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 63,024.7 63,024.7
—AYA=6CT 1=U=RYaARNY»A 8> 1 =1=Y -~ N=U=V0=ICY a3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3CY 13X T»AA40AIAYY»ACY




T9€

20la56=T 08-02-05

13 14 15 16 17 18 19 20 21 22
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aapb21U%s 0.0 0.0 0.0 0.0 0.0 0.0 11,400.0 11,400.0 0.0 0.0
31 Afadu
éééC3E3_I-3Y' 0-YaiAlRY 1H3U313Y 3w 3N3rasAl=0u 0.0 0.0 0.0 0.0 0.0 0.0 11,400.0 11,400.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
- TRAZT3Y, URZTAAZICY ™ 6AaR T 3(CY YAZETY»A plaic»Co 0.0 0.0 0.0 0.0 0.0 0.0 11,400.0 11,400.0 0.0 0.0
ZQE ~‘I 2Eé°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
U I'Cﬁ?'_l'l'éﬁAUéﬁYY»ﬁ ai 136313 13Y (N=BE3n31313Y) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
-0 i§ﬁ3'l'féﬁAﬂéﬁYY>>ﬁ 3 R=NaglA AN»3AY140 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIATY Y »ACY
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0| 8,000.0 8,000.0 0.0 0.0 0.0 0.0
31 Afadu
D/E@pz’l\?U PExAOUCS 0.0 0.0 0.0 0.0| 8,000.0 8,000.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"L"J}ZlO(j 1 bEUaAUaUUCS 0.0 0.0 0.0 0.0| 8,000.0 8,000.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 0.0 0.0 0.0 0.0| 8,000.0 8,000.0 0.0 0.0 0.0 0.0




29€

8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Af»YOC 7-A1 NALT2TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 08 p=AYC 02
EUC 05 126G Th=-fi»AC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

20lae=T 08-02-05

31 ATao0 Aer T3 -fi»fic
o §AA0ATALST3Y]
L ORSAR N SAT»EWC ™ i Z_Qf’:.lpao‘AUaoY N=0 a:3 ni 3'| af Iqa,U3lY'
AST»A3T3Y Y»AT3P64UY»f ASAZAT»EWC NSUsfi- Vo UB=TA0AC UCe=t- =ICY ‘3(1,&:?".\.(.30? I 3Y03Y6
>»Y T RaYY»icY SU»Y3UERE a=rT1arx=nc
Tx3AU3Y 13¢3a0AlasYY»h
=i Aaol A 3 ATa0 AT 3 Araol A 3 Afao A
PALT=IC 3YT=VaiUA = I=13Ra0Y»Nn¢ = 137 =3na0Y»N¢ = I=1=3na0Y»Mic = 1=1=3na0Y»Mic
lg lg lg lg
n = s > n = > n = I T
Sl g2 |t ek £ | g2 ek S| 5.2 | S |SEo2ilsE
5 R - DA = 22| nh | % TE8 | 3 |LREEnssE
s Ol 2E| s& s A T el 3 |=e=lglap
58 a 0 = vl < a 0 vl < a 0 58 0 0 @ %%U \—
R 8 [ [ > =} > 8 >
23 24 25 26 27 28 29 30 31 32 33
AU _ 2@°UA 12E&°8 300,976.0| 280,079.7 8,531.3| 12,365.0| 273,982.9| 253,302.4| 20,680.5| 6,533.3 6,533.3| 114.0 114.0
3t AtaoU
AUAZOET 12E8°8 300,976.0| 280,079.7 8,531.3| 12,365.0| 273,982.9| 253,302.4| 20,680.5| 6,533.3 6,533.3| 114.0 114.0
3(r ATaoU
1282020AUa00UCBE ©1 2a82UgU°8E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 114.0 114.0
0°eg” 2da00
3t ATaoU
P3AaY=ST3T3Y ISEéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 114.0 114.0
3(r ATaoU
- T34C 1363(aAlaryYrh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 114.0 114.0
éab” ek_£2U°d 300,976.0| 280,079.7 8,531.3| 12,365.0| 273,982.9| 253,302.4| 20,680.5 0.0 0.0 0.0 0.0
3(r ATaoU
846UECIC3Y M & W 3T3Y T3S TH>A40AIE0YY »ACY 300,976.0| 280,079.7 8,531.3| 12,365.0| 273,982.9| 253,302.4| 20,680.5 0.0 0.0 0.0 0.0
3t ATaoU
- BA0UECIC3Y»R 48 YCYSYEST3Y &r3T3Y 300,976.0| 280,079.7 8,531.3| 12,365.0| 273,982.9| 253,302.4| 20,680.5 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
.0202pJaspu>s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 ATaoU
AYAS6CT 1ASU3RYAANY»A &> T 3T3Y NSTT31C¢ 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
3t ATaoU
- AYA3G6CT 840pT»Y0C=Y»ii N3U3YaY»acy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYASOCT HSUSRYAANY»A 8» 1 ST3Y ~ NSUSYUS(CY 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S¢TTASGY T3WST»RAaiAIAYY»fACY




€9€

20la56=T 08-02-05

23 24 25 26 27 28 29 30 31 32 33
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aapb21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
éééC3E3_I-3Y' 0-YaiAlRY 1H3U313Y 3w 3N3rasAl=0u 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
- TRAZT3Y, URZTAAZICY ™ 6AaR T 3(CY YAZETY»A plaic»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I 2Eé°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 6,533.3 6,533.3 0.0 0.0
31 Afadu
U I'Cﬁ?'_l'l'éﬁAUéﬁYY»ﬁ ai 136313 13Y (N=BE3n31313Y) 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 6,533.3 6,533.3 0.0 0.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
-0 i§ﬁ3'l'féﬁAﬂéﬁYY>>ﬁ 3 R=NaglA AN»3AY140 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 6,533.3 6,533.3 0.0 0.0
I3%W=T»A&40AIATY Y »ACY
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D/E@pz’l\?U PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"L"J}ZlO(j 1 bEUaAUaUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




¥9€

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 08 p=AYC 02
EUC 05 126G Th=-fi»AC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 136313003 NaLT2TV»AC

S[ATa00 ASH TR fofiC

TSA=103cyY P30»fi- Y»fiC,
N=U=-anl=3Toa0ABY 2y.3(cY ST21003T3Y +363TaV»A¢ " 3k
ASUSNSITSTSY UBSTARSCY | Elpa-SICY RSUna-voil | UccasSeanng
1A= - finfiC CA3T3Y=06450 CAZT3Y=26400
Sin Afal e S Arai Aew S Arail Aew
DALTSIC 37 F=YailA = 13T 340V»C = ISWSE0VAC | o 13T 3740Y»AC
c c e > o>
) = ) = ) anl
- 8&% - 3%2% = 3% SY) ’o‘,): P
< D @ < 3R < S =g
> &< > —C > na0 <
7 o 1 o £ o °C e
s al s >0 g B.3=1
< 0 < 8% < | fL%8¢
. R @ 2
> > 2y s
34 35 36 37 38 39
AU _2@°UA 12Eé°3s 3,000.0 3,000.0| 28,262.8 28,262.8| 40,180.0 40,180.0
=1 ATasU
AUA20LT 12Eé°8 3,000.0 3,000.0| 28,262.8 28,262.8| 40,180.0 40,180.0
=1 ATaiU
T12&20a0AladuUUCBE @1 2482UgU°BE 0.0 0.0 0.0 0.0 0.0 0.0
0cep” 23260
=1 ATaiU
P3faiYST3T3Y ISEé»i 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
T13AC 1563 ANaTYoR 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek _k=20°s 0.0 0.0 28,262.8 28,262.8 0.0 0.0
S YEL
BANECICIYoR B T ST3Y T3S TN AA0AEITY»ACY 0.0 0.0| 28,2628 28,262.8 0.0 0.0
=1 ATaiu
T BANECICIT R & YOV SVEST3Y an T 3137 0.0 0.0| 28,2628 28,262.8 0.0 0.0
=03 T»AA40A1A6YY»ACY
. 62~®2P0é1690°6 3,000.0 3,000.0 0.0 0.0| 40,180.0 40,180.0
31 Afadu
AVAS6CT 13U ARNY»A 80 1 3137 NS 1 131C 3E 3,000.0 3,000.0 0.0 0.0] 40,180.0 40,180.0
USTSASTY»iCY
31 Afadu
TAVAS6CT Ba0RT»YOCSVoh NSUSN O »AGY 0.0 0.0 0.0 0.0 0.0 0.0
T AVASGCT TA3USRYARNY»N 2o 1 ST3Y -~ NSUSNUSCY &4 3,000.0 3,000.0 0.0 0.0] 40,180.0 40,180.0
26" TA3CY TSWST»AAAAIATYY»ACY

20lae=T 08-02-05



G9€

34 35 36 37 38 39
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aapb21U%s 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
éééC3E3_I-3Y' 0-YaiAlRY 1H3U313Y 3w 3N3rasAl=0u 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Afadu
- TRAZT3Y, URZTAAZICY ™ 6AaR T 3(CY YAZETY»A plaic»Co 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I 2Eé°6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
U TCA=T Ta0AlaIYY»h 43 T3S T3S 13Y (NBE3AST313Y) 0.0 0.0 0.0 0.0 0.0 0.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
-0 i§ﬁ3'l'féﬁAﬂéﬁYY>>ﬁ 3 R=NaglA AN»3AY140 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIATY Y »ACY
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D/E@pz’l\?U PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D?U~Z°§ 1 bEUaAUaUUCS 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 0.0 0.0 0.0 0.0 0.0 0.0

20lae=T 08-02-05



8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» 20y T2Eex»AC -aRI36Y2T3Y 1263137 U3Y 08 u=AYC 02

EULG 06 126G 1A= -AvfiC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»iC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

P31»tT31 N 5 - | »é308(3T

200a56=3T N 08-02-06

20la6e=T 08-02-06

99¢€

31 ATai0 Aéw TAS -Ai»fiC
TCYAYT=AY»AC 21 3[cY TGYATAS - finfiC B3I ST -A=T2Y
S =1aaiAlacY CA=T=Y=06450 TCYATA= - AnAC CAST=Y=6400
i v = ATl A6 =0 AT400 AST = Aol Aer
AVI20»VA w | 1= r=Ra0Y»AC - | 1= Tsiadvsic - T=U31a0V»AC
o TSEC 2 2 2
PALT=1G =Y T=YaiUA - &0U=HiA 0 - 0 -~ " -
(N=%=h = O3 = O 8 = O3
w=0ysnan | =i = = = =i
N =2 N =8 N S
3 n 0 3 n 0 3 n 0
m [l (e m <2 C m (<2l (e
g = g = g =
< af < a8 < 8t
> > >
1 2 3 4 5 6 7
AU _2g°UA 12Eé°3 102,234.9] 68,0935 68,093.5| 26,081.3 26,0813 8,060.1 8,060.1
3 A4l
AUAZOAT 12E6°5 102,234.9] 68,0935 68,093.5| 26,081.3 26,0813 8,060.1 8,060.1
3 ATasl
éas ek _k=20°8 92,0349| 57,8935 57,893.5| 26,081.3 26,0813 8,060.1 8,060.1
3 A4l
BABUECICSTA B 1 T2V 12 I»ARA0AA0TY»AGY 92,0349| 57,8935 57,893.5| 26,081.3 26,0813 8,060.1 8,060.1
3 A4l
- BAPECICSTm ad YyOY Ve T3 B 1213y 92,0349| 57,8935 57,893.5| 26,081.3 26,0813 8,060.1 8,060.1
TS THRAAAIAIAGYY»ICY
2(f 12E£6°6 10,200.0| 10,200.0 10,200.0 0.0 0.0 0.0 0.0
3 A4l
UTCAST 1atAladYV»n 42 12631 =na=13Y (N2e=n=1=313Y) 10,200.0| 10,200.0 10,200.0 0.0 0.0 0.0 0.0
TS THAKAMAIAGYY»ACY
3 A4l
- UTCh=1 140A&0YY»N ST BSNA0A 8> 1 S&Y1a0 10,200.0| 10,200.0 10,200.0 0.0 0.0 0.0 0.0
TS THAKAMAIAGYY»ACY




19€

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

YOG 7-ft Na1T3TAT pade» 1 3i0Y TSES»AC -afl=eyY3T3Y 1363130 U3Y 08 p=AYC 02
EUKG 07 136C 1A= -ivfiC - TaT K33 121 K3 T20400Y»AC T»AT=Va0Y Asr
IBEe»AC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

P3I»ET31 N 5 - | »é308(3T
200a56=3T N 08-02-07

20la6e=T 08-02-07

S ATa00 AS W 1A= -fiofiG

2c=2V645Rl4067

AucEcecasy - ryYTal N3]
-fiadY»AC A3YA»AYC

A= U=2UR=Ta0A=I0Y
A=63Y - aAl=Y
- =T SYAT3T3Y

2c=Toashlasy (=lI=T=2Y
&= U=UR=TasA=(CY
RaiRSAO=YY»AC

a=Na=vyl=vaA SREST3VUY»i I3 »i3-AU3YA
AYISU»YA = Atail A = ATas0 Aer = Atail Asr
o 1=eC \— T=13iadv»ic \— T30 3ia0Y»hic \— T3 3iAa0vY»ic
PATT3IC 3YT3YajuA -aU=nA N N =
(V== 0 = 0 = 0 =
1A3UY»iar) \:;‘: 8% \:;‘: % % \:;‘: % %
s g 5 s 3 TE
< 0 < a " < a "
> > >
1 2 3 4 5 6 7
AU _2@°UA 12Eé°s 26,424.1| 800.0 800.0 15,024.1 15,024.1( 10,600.0 10,600.0
=1 ATasu
AUAZOET 12Eé°3 26,424.1| 800.0 800.0 15,024.1 15,024.1( 10,600.0 10,600.0
SR YEL
éao” ek _k£=20°s 15,024.1 0.0 0.0 15,024.1 15,024.1 0.0 0.0
S YEN
@4iueCIC3Y»i A» W3 T3Y 133 T»AAAAIAIYY»ACY 15,024.1 0.0 0.0 15,024.1 15,024.1 0.0 0.0
SR YEL
- @A0PECIC3Y»i1 43 YCYSYEST3Y &3 I3Y 15,024.1 0.0 0.0 15,024.1 15,024.1 0.0 0.0
=03 T»AA40A1A6YY»ACY
. 02@2pUasbues 10,600.0 0.0 0.0 0.0 0.0/ 10,600.0 10,600.0
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AYAZ4CT 1ASUSRYAANY»A S»T3ST3Y NS 131 3E 10,600.0 0.0 0.0 0.0 0.0/ 10,600.0 10,600.0
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SR YEL
- 2 AYAS4CT 1A3U3RYAANY»h 10,600.0 0.0 0.0 0.0 0.0/ 10,600.0 10,600.0
2UE 12Eé°d 800.0( 800.0 800.0 0.0 0.0 0.0 0.0
=1 ATaiU
U TCA3 TajAladYY»f 43 T3S T3S 13Y (NBE3A3T313Y) 800.0( 800.0 800.0 0.0 0.0 0.0 0.0
=03 T»AA40AIA6YY»ACY
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31 AT4sU
AUAZOET 12Eé°8 1,426,400.2| 69,222.5| 47,840.4| 21,382.1| 1,054,251.4] 24,000.0| 1,030,251.4| 156,348.2 156,348.2
31 AT4sU
2pE2T20gk 12802T6a0A0a00 59,805.3| 59,805.3| 40,827.7| 18,977.6 0.0 0.0 0.0 0.0 0.0
31 AT4sU
_i3Uaf 1x3i7a0 SREST 37300~ N2 T2 Tx3AY»f 59,805.3| 59,805.3] 40,827.7| 18,977.6 0.0 0.0 0.0 0.0 0.0
31 AT4sU
- 2RE3TA0V»AC SRESTST3A0»A ~ NS T»>EBTx3AV»A 54,331.7| 54,331.7] 35,354.1| 18,977.6 0.0 0.0 0.0 0.0 0.0
- 2303036C313Y, 13733V~ a1 313V 3f 5473.6| 5,473.6| 5,473.6 0.0 0.0 0.0 0.0 0.0 0.0
1=26310Y»AC &=3A- =1 Aal
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- %Y»R-» TGl 1363[a0AlasYY»i 1,717.0] 1,717.0] 1,717.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUaY3t 13¢3asAlasy Y»i 22.0 22.0 22.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363la0AlaY Y»h 1,236.7| 1,236.7 736.7 500.0 0.0 0.0 0.0 0.0 0.0
- 2330413 -A3T3Y I3Eé»i 280.0 280.0 160.0 120.0 0.0 0.0 0.0 0.0 0.0
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69€

20la6e=T 08-03-01

1 2 3 4 5 6 7 8 9
a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 5,189.0( 1,889.0| 1,339.0 550.0 0.0 0.0 0.0 0.0 0.0
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- U»iil3[=040043T3Y I3Eé»h 100.0 100.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 1,200.0/ 1,200.0( 1,200.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 13.1 131 13.1 0.0 0.0 0.0 0.0 0.0 0.0
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- @3EY3-CU3I3Y 13é63(aAla0YY»ii 13.1 131 13.1 0.0 0.0 0.0 0.0 0.0 0.0
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YlaoA»fi)
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- TASYEAANT3ICY YiasA»i 1,116.6| 1,116.6 425.6 691.0 0.0 0.0 0.0 0.0 0.0
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31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 29,629.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
. 6%@290369006 1,325,502.5| 1,254.4( 1,254.4 0.0 1,054,251.4 24,000.0| 1,030,251.4( 156,348.2 156,348.2
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. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 1,254.4| 1,254.4( 1,254.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3C')C_I- 1A3U3RYARNY»A UCc3%%- 3ICY 1,254.4| 1,254.4( 1,254.4 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AY_A_36C-I- 3_'-_r~"l3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 1,297,248.1 0.0 0.0 0.0| 1,054,251.4 24,000.0| 1,030,251.4| 156,348.2 156,348.2
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- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 6,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 13X T»AA40AIAYY»ACY
- AYA3OQ_I- ASUSRYANNY»f a»T313Y " N3U3IYi=SCY 1,291,248.1 0.0 0.0 0.0| 1,054,251.4 24,000.0| 1,030,251.4| 156,348.2 156,348.2
3¢ WA3CY 13X T»AA40AIAYY»ACY
Tetc_‘;’lg'l'3g_],-ﬁ3U?’BY'éﬁNY>>ﬁ AT3I3YN3TI31C 3E 27,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
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- T2ACT 3t 1ABU3RYAANY»A &» 1 3T3Y " N3U3Yu3(CY 27,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU _2@°UA I12E&°s 17,315.2 17,315.2 39,886.4 39,886.4( 7,315.8 7,315.8( 29,629.6 29,629.6
SR YEL
AUAZOET 12Eé°3 17,315.2 17,315.2 39,886.4 39,886.4( 7,315.8 7,315.8( 29,629.6 29,629.6
=1 ATasu
2pE2T2UgkE 12802Toa0AUacU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
_ABUAT 131140 SRES W3 T300»1 ~ NS I»E3 1x3Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATasu
- 2RE3TA0Y»AC SRES WS T30~ NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o303 026C3 13, 1T I3V A 1 313 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- TAUAYS3E 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0| 29,629.6 29,629.6
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA4&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 29,629.6 29,629.6
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 29,629.6 29,629.6
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 17,315.2 17,315.2 39,886.4 39,886.4| 7,315.8 7,315.8 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3C')C_I- 1A3U3RYARNY»A UCc3%%- 3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AY_A_3C')C-I- i‘-_ﬁ3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 17,315.2 17,315.2 39,886.4 39,886.4( 7,315.8 7,315.8 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 13X T»AA40AIAYY»ACY
- AYA3OQ_I- ASUSRYANNY»f a»T313Y " N3U3IYi=SCY 17,315.2 17,315.2 39,886.4 39,886.4( 7,315.8 7,315.8 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
Tetc_‘;’lg'l'3g_],-ﬁ3U?’BY'éﬁNY>>ﬁ AT3I3YN3TI31C 3E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- T2ACT 3t 1ABU3RYAANY»A &» 1 3T3Y " N3U3Yu3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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